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Question Number : 1 Question Id ;: 91394312980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Prime objective of using audio-lingual aids in a classroom is to keep students to develop :

Options :

91394351001.

Spelling and punctuation skills
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Listening and speaking skills

91394351002,

Reading and writing skills

91394351003.

Vocabulary and grammar
91394351004

Question Number : 1 Question Id : 91394312980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teh hell U gA-uifues fOo 98aes 9l & YANT 61 32%d 96l ol F=ifea § 9 fogs faemg 4

e AT €2

Options :

It 3R Fag-Taar S

91394251001.

0T 3R HIHUT ST

91394251002,

U2 3R @ ShRIE

91394351003,

Tt 3R SR

91394351004,

Question Number : 2 Question Id : 91394312981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following is best instrument to evaluate quality or characteristics of a

learner ?
Options :

Checklist

91394351005.

Rating Scale
91394351006,

91394351007, Inventory

91394351008, Rubrics

Question Number : 2 Question Id : 91394312981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

91394351005. = Efil
91394351006, groff - frerieor Yur

91394351007, 1 @.
gfEr

91394351008.

Question Number : 3 Question Id : 91394312982 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The growth, development and increased access to technology over decades have contributed

to learner characteristics in terms of using technology. Below are given two sets, please

match the generation as being popularly called based on birth year :

Set-1 Set - 11
(a) Born 1945 and before (i) Generation Z
(b) Born 1946 to 1964 (i) Generation Y
(c) Born 1965 to 1976 (iii) Baby Boomer
(d) Born 1977 to 1995 (iv) Traditionalist
()  Born 1996 and after (v) Generation X
Code

(@) (b) () (d) (e)
91394;51009. (iv) @) (v) @) @)
91394351010, i) (@) (u) (@) (v)

91394351011. Q) (v) @ () (iv)

91394351012, (Iﬂ) (IV) (1) (V) (]_1)

Question Number : 3 Question Id : 91394312982 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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g - I g - I
(a) 1945 3R STY IgA SH () SHEEZ
(b) 1946 | 1964 % = 54 (i) SHEEY
(c) 1965 H 1976 = == 49 (i) ol IR
(d) 1977 | 1995 & = A (iv) TUYEmE]
(e) 1996 3R Ik 9 A (v) SHEEE X
e

(@ (b) () (d) (e

Options :

91394351008%. (IV) (]ll) (V) (Il) (1)

91394351010, (m @ @ @) ()

H v @ (@) @)

91294351011,

91394351012, (1].1) (IV) (1) (V) (]_1)

Question Number : 4 Question Id ;: 91394312983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is correct statement in relation to fishbowl style of classroom

layout ?
Options :

Students sit in ‘C’ shape formation with teacher at the centre.
91394351013,

Students are grouped together on small tables so that they can engage in small group
1304351014 AISCUSSIONS.

Some students sit close together in a circle in the centre of classroom while the rest of

1394351015 students stand at the back of classroom and observe the group discussion.
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Students sit in horizontal rows so that they can clearly see each other but this does not

facilitate group discussion.
91394351018,

Question Number : 4 Question Id : 91394312983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FeT T 1 TRerersa et & deu # it § | SiF W YT Wel 272

Options :

BE ‘C’ AR FT T H o34 ¢ 3R e &g # @ 2|

91394351013,

SEI <l BT HS & 3o-Ti1e T3 Sl difer o ofg 998 == S 9 |

91394351014,

FS ST HE & o" H Teh B H YH-I1H 93 €, STefch I ST WYL T4 h1 ST 6 &
feau drer Wi w2 3a ¥

91334551015

B &iferst dfsal § 934 € A1 3 TTF-9TE U g6 bl 5F ok iR 399 - Te 99d T
1 U |

91394351016.

Question Number : 3 Question Id : 91394312984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following is the apex institution in India working i the area of training

educational planners and administrators ?

Options :

NCERT

91394351017.

SCERT

91394351018.

NIEPA

91394251018,

NCTE

91394351020.

Question Number : 5 Question Id : 91394312984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Jiferer TTTeht STR TRIeh Sh1 WTIRT0T < el WRd H Helted ween feifehd § | %[ § 2

Options :
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91394351017.

T 9t g AR

9129421018,

91394351018. m 3‘T|§ é tﬁ H’

THH A

91394351020.

Question Number : 6 Question Id : 91394312985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The identfication of a research problem involves

a) Selection of the academic area

b) Demarcation of the study area

(
(
(c) Rejection of personal and collective choices
(d) Specific topics within the area

(

e) Management of financial sources

(), (b) and (c)

91394351021.

(b), (c) and (d)

913394351022.

(), (b) and (d)

91394351023.

(c), (d) and (e)

91394351024,

Question Number : 6 Question Id : 91394312985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(a), (b) 3R (c)

91394351021.

(b), (c) ¥R (d)

913394351022,

(a), (b) 3R (d)

91394351023.

(c), (d) 3R (e)

91394351024,

Question Number : 7 Question Id : 91394312986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Participatory research is also described as :

Options :

o139435102s 1NdIvidual-based

Group-based

91394351026.

Community-based
91394351027,

STEAEETISE Government-based

Question Number : 7 Question Id : 91394312986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

e - 3T

91394351025.

TG-S

91394351026.

JYII-3HRA

91394351027,

91394351028, HT - ST

Question Number : 8 Question Id : 91394312987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is an incorrcet statement ?

Options :
Ex post facto research uses data that you collected before you came up with your
hypothesis.

91334351029

| Archival research uses data collected and sometimes coded by someone else.
91394351030.

SRgeRle Observational methods are used in both correlational and experimental research.

Using a scatterplot to graph your correlational data will not tell you the direction of the

. relatonshi ositive or necative).
51394351032 p (posit gative)

Question Number : 8 Question Id : 91394312987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fr=fafed 3 9 -9 HUF T €2

Options :

FHRTR MY 37 S H T foran sman 7 59 o aftewegn fmior & g et foman o)

91394351029,
Rt Wy H fFE o Afg g dafaa iR wvi-a Feag SAiesl &1 Sudm e
91394351030, Eﬂ?ﬂ%l

T YT 1 STANT Y 3R Ui ST oy § foRan S 2

91394351031.
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Question Number : 9 Question Id ; 91394312988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

The advantages of secondary analysis in research are

(a) Itis inexpensive.

(b) There is no need to construct a measuring instrument.
(c) Data archives are a valuable source.

(d) Useful opportunity is provided to produce valuable knowledge.

(e) Provides less time to understand data.

Code :

Options :

(a), (c), (d) and (e)

91394351033.

(a), (b), (c) and (d)

91394351034,

(b), (c) and (e)

91394351035.

- (d) and (e) only

913394351036

Question Number : 9 Question Id : 91394312988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(
(

@), (c), (d) 3 (e)

91394351033.

91394351034, (a), (b)’ (C) aﬂ-{ (d)
s1304351035, L) (€) 3R ()
FaA (d) 3 (e)

91394251028,

Question Number : 10 Question Id : 91394312989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the type of validity with its major source of problem :
(a) Construct validity (1) Faulty or poor measure, resulting in

mislabelling /mismterpreting behaviour
(b) External validity (1) Treatment and no-treatment groups were

unequal before the study began

(c) Internal validity (iii) Sample of participants was not representative
Code :
(@) (b) (o)
Options :

91394351037. (l) (11) (Ill)
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9139435103E.

91294251029, (IH) (l) (]_l)

(i) (1) (i)

91294251040,

Question Number : 10 Question Id ;: 91394312989 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

YT 3R AT F H&A Bld ol JHTad HITe :
(a) Taior e (i) AfaRT T T A9 S5k IRomEEy Tord HahaA/ g:fd=m
EIGIES
(b) RIS (i) STIER SR 1-ERR TUE TIIA TRY 2 | Yd SFHM &
() o1dafe Auar (i) fawfrEi o faew gfafareres =& o
&e
(@) (b) (c)
Options :

91394351037. (1) (Il) (Ill)
91394351038. (l) (lll) (H)

@ 0 @

9129425103249

91394351040, (]_1) (1) (]]_1)

Sub-Section Number: 2
Sub-Section Id: 913943661
Question Shuffling Allowed : Yes

Question Id : 91394312990 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers : (11 to 15)
Question Label : Comprehensi-:}n
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Read the passage carefully and answer questions from 11 to 15 :

The phrase ‘public diplomacy’ reflects multiple viewpoints and ideas and hence, does
not possess a unique, well-established conceptualisation. Yet, insimple words public diplomacy
is the influence of nation on foreign audiences. Public diplomacy may also be defined as
‘direct communication with foreign peoples, with the aim of affecting their thinking and
ultimately, that of their governments’. Hence, public diplomacy can be thought of as a process
of a nation listening and understanding the needs of other countries and communicating its
viewpoint to eventually build relaionships. Public diplomacy is based on the identity and
reputation of a nation that is dictated by many factors : political, social, economic and
cultural. Trust has been highlighted as the most important factor necessary to initiate a
conversation, sustain a dialogue and build relationships. The focus on developing
relationships is also indicated in the defmition of public diplomacy as “the process by which
direct relations are pursued with a country’s people to advance the interests and extend the
values of those being represented’. It is also highlighted that engagement and dialogue as
key indicators of developing relationships in public diplomacy. “Effective public diplomacy
is a two-way street with réciprocal influence on both the source and receiver involved in
the ongoing communication process”. The ongoing communication process leads to
developing lasting relationships with a foreign audience that bestows nations with soft power.
Soft power is an advantage in world affairs and incites admiration and respect in other parts
of the world. The soft power of a country is defined by three factors : its culture, political
values and foreign policies. All these factors primarily rest on its ability to shape preference
of others by using strategic communication skills. We must remember that public diplomacy
is not a public relations campaign, but to create on enabling environment for government

policies.

Sub questions

Question Number : 11 Question Id ;: 91394312991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Indentify the objective of public diplomacy.
Options :

Influence the nation
91394351041,

Communicate directly with people
91394351042,

Affect the thinking of foreign governments

91394351043

Conceptualise national listening
91394351044,
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Question Number : 12 Question Id : 91394312992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What factors impact the identity of a nation ?
Options :

e Political, social, economic and cultural

o139435104¢ 1NAtiONal reputation

- - 1-
91394351047, Foreign audience

& (R E Different ideas

Question Number : 13 Question Id : 91394312993 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Direct relations are necessary with a country to :
Options :

R — Pursue vested interest

T Influence the communication source

S ST Advance the representative values

91394251052, Highlight the key indicators

Question Number : 14 Question Id : 91394312994 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The ongomg communication process will provide :
Options :

Development of foreign audience
91394351053,

o1304351054 Srdvantageous soft power

S Admiration for other countries
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SRR Imposition of cultural values on others

Question Number : 15 Question Id : 91394312995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What does the passage declare ?

(a) Public diplomacy is not for indirect relations with other countries.
(b) Public diplomacy builds relations with other countries.

() Trustis needed to sustain a dialogue.

(d) Strategic communication skills will help shape others’ preference.
(e) Public diplomacy is not public relations.

(f)  Soft power is not used to have a role in world affairs.

Code :

Options :

(a), (b), (c) and (d)

91394351057.

(b), (d), (e) and ()

91394351058.

(), (d), (e) and (f)

913394351058,

(b), (9), (d) and (e)

91394351060.

Question Id : 91394312990 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 91394312991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

LR FHeAlfd & 3299 sl YT

Options :
913594351041. % _q,’=|' a

913942351042, iDL o

a9 TR St G ] 9IfEd &4

91394351043.

91394351044 UEY Fe0T hl HGLROM k1 FHIOT HET

Question Number : 12 Question Id : 91394312992 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

91394351045.

T TR

91394351046, “

facEit grarma

91394351047,

fafir = fa=mr

91394351048,

Question Number : 13 Question Id ;: 91394312993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

frafafad 7 9 forg yaeme fodl <9 & WY Y ey STayas § 2

fafea wnd feq Wy & foaw

91394351048

HER % ©d &1 JuIfead & & fau

91294251050,

yafeTcTe e 1 9g@l o7 & g

91394351051.

HeeEqUl frEuehi 1 ISR & & fag

91394351052.

Question Number : 14 Question Id ;: 91394312994 (Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

SR TR Ufhdl & Tela®y :

Options :

faceh g e 1 fmio 2

91394351053,

AHR g Wi Sed=1 aril

91394351054,

37 <Y ok i TEAT R 916 3= B

91394351055.
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91394351056.

Question Number : 15 Question Id ;: 91394312995 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

39 T § Ry frieheran €2

(a) IR Feifd 37 U F WY AN Feiy & Ffi = 71
(b) HIHRI FHeitd 9 314 S & Wiy Haiy 1 Fmior Fren g1
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(
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Options :

(), (b), (c) 3R (d)

91394351057.

(b), (d), (e) 3R (£)

91394251058,

91394351055, (a)’ (d)’ (e) 3:?'-{ (f)
(b), (0), (d) 3R (e)

91394351060.

Sub-Section Number: 3
Sub-Section Id: 013943662
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394312996 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Persuasive communication in a classroom intends to make people accept a particular :

Options :

a1304351061, ¥ €rbal noise
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Verbal jugglery

91394351062,

91394351063 1 OSition

91394351064, Disorientation

Question Number : 16 Question Id : 91394312996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

UIEE =B

91394351061,

MUECREAGE]

91394351062,

91294251062, ERSL

AT

91394351064, &

Question Number : 17 Question Id ; 91394312997 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;
Effective communication inside the classroom leads to :

(a) Problem - solving strategies
(b) Intensive - knowledge

(c) Extensive - knowledge

(d) Uncontrolled discourses

(e) Vertical communication

Code :
Options :

(a), (b) and (c)

91394351065.

91394351066, (b), (c) and (d)
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(), (d) and (e)

91394351067,

d), (e) and (a)

913942510€8. (

Question Number : 17 Question Id ;: 91394312997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

SheqT | YTt WO § 1 SYaIfe 2l € 2
a) HAR-HHIYM TOHId (b) TR I
Torega 9 (d) AFEEE ==

91394;51065. (a), (b) ﬁ-{ (C)

91394351066.

91394351067,

913943510683.

Question Number : 1§ Question Id ;: 91394312998 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Educational broadcasting suffers from the factor of :

Options :

Extended interactivity
91394351069,

91394351070, Automated communication

S, Attention span

[nternal-external monopoly
91394351072,
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Question Number : 18 Question Id : 91394312998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Jferer TR | Frifea § ¥ fod R i THE 82
Options :

ICESIEG RS GRE RIESIE]

913943510689,

T U

91394251070,

M 3Ty

91394351071,

ATARH-9RI THIHRR

91394351072.

Question Number : 19 Question Id : 91394312999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assertion (A) : Questioning is a primary tool of classroom communication for teachers when

they lead discussions.
Reason (R) : Student learning is the major motive of teachers, made possible by questions

and answers.

Code :
Options :
91394351073, Both (A) and (R) are true.
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394351074,

91394351075, (A) 18 true, but (R) 1s false.

01304351076, (A) 18 false, but (R) is true.

Question Number : 19 Question Id : 91394312999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

sifrerer (A) . Toereni & Torq shrear—1a WO ¥ <r=iell & S U IS U WfHes qfad 7|
T (R) : formedt a1 At ferhi 1 TH@ <49 a1 § T Ui TR ST o HisAd | W9
ST ST € |

h<
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Options :

(A) 3R (R) S 9&l € |

91394351073.

(A) 3R (R) Fi 92 €, fhe (R), (A) T T =& 74 €

91394351074.

A) & T, g (R) 91 7 2|
(A) T& 21 &, fohg (R) 91 €1

91394351075.

91394351076,

Question Number : 20 Question Id : 91394313000 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When students and teachers involve in communication, the purposes are :
(a) To develop professional working relationship.

(b) To create a participatory environment in the classroom.

c) To engage in out-of-classroom interaction.

d) To seek teachers’ intervention in personal matters.

e) To control teachers’ attitude towards students.
Code :

Options :

91394351077, (a), (b) and (c)

(a), (d) and (e)

91394351078.

91394351079, (b)’ (C) and (d)

(c), (d) and (e)

91394251080.

Question Number : 20 Question Id : 91394313000 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a) STIHIHE ToRarcHs HoY fasfad & fau
(b) e H FIRT st sH & fau)
(c) R&T ok SRL St 3d:fshdl H WM o & foT |
(d) Froft Amel # fiees o1 s W F % o |
(e) O o Ufd ferehi % =reRR o FEfE 1 % o)

(a), (b) 3 (c)

91394351077.

(a), (d) 3R (e)

913943510783.

91394351079, (b)’ (C) Sfﬂ- (d)
(), (d) 3R (e)

91394351030.

Question Number : 21 Question Id : 91394313001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If HYDERABAD is coded as DABAREDYH, then BENGALURU will be coded as :

Options :

XYPQRSTUB

91394351081.

91394351082, UXURULCAB

URULAGNEB

91394351083.

BDEFGHIJK

912394251084,

Question Number : 21 Question Id : 91394313001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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afe HYDERABAD &1 DABAREDYH &% ®9 § Feag foran Sirar 8, @ BENGALURU &1 &2 &1
B 2

Options :

XYPQRSTUB

91394351081.

UXURULCAB

91394251082,

URULAGNEB

91394351083.

91294251084, BDEFGHHK

Question Number : 22 Question Id : 91394313002 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The next term in the number series 10, 13, 22, 49, ?

Options :

91394351085. 89

91394351086. 126

91394351087. 97

91394251088, 130

Question Number : 22 Question Id : 91394313002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
10,13,22,49, 2 =l G H 3T 3k B0 :

Options :

89

91394351085.

91394351036. 126

913943510587. 2

913942351088, 130

Question Number : 23 Question Id : 91394313003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The next term in the letter series EE, GG, 1], KN, MS, ___?

Options :

00

913943510889,

oY

91394351090,

YO

91394351091.

XY

91394351082.

Question Number : 23 Question Id : 91394313003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ui §@el EE, GG, IJ, KN, MS, __ 2 T 37el U< 2

Options :

91394351088%. OO0

91394351090. OY

YO

91394351091,

91394351092. XY

Question Number : 24 Question Id : 91394313004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Choose the word which is different from the rest :
Options :
91394351093, VVIite

Knowledge

91394351094,

SsaEEGEE edd

91394351096, €A

Question Number : 24 Question Id : 91394313004 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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Options :

[SEEE]

91394351083.

EilG!

91394351094,

91294251095, !

91394351096.

Question Number : 25 Question Id ;: 91394313005 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

Pointing to a woman, a man siad, “Her father is the only son of my father”. How is the man
be] y Y
related to the woman ?

Options :

Father-in-law of the woman
91394351097,

51394351058, Father of the woman

91394351099, Brother of the woman

T — Brother-in-law of the woman

Question Number : 25 Question Id : 91394313005 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T Higen 1 AR ST L BT TH YT 7 F, 39 faar W a1 & v e gy 21 9% gen 39
Afeen ¥ 5y Heifera &2

Options :

AT T TP

91394351097.

Tfger &1 T

91394351098.

91294251099, "% Al <l 'q'[g

Afed] T FS—3T—al

91394351100.
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Question Number : 26 Question Id : 91394313006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two premises (a) and (b). Four conclusions are drawn from them. Select
the code that states validly drawn conclusion(s) [taking the premises individually or jointly].

Premises : (a) All diamonds are precious stones.
(b)  Some carbon compounds are diamonds.
Conclusions :
(i) All precious stones are diamonds.
(ii) Some non-carbon compounds are precious stones.
(iif) All precious stones are carbon compounds.
(iv) Some carbon compounds are precious stones.
Code :
Options :
i) and (iv
91394351101. ( ) ( )
91294251102, (H) and (IV)
91394351103. (Ill) OI'].[Y
1v) onl
91394351104. ( ) 4

Question Number : 26 Question Id : 91394313006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T STUREE (a) 3R (b) fFRu 7w €1 370 & =R frepdd ot T €1 9 Fe o1 994 Fifeg S
frreepd | 3fd ®9 | ITYA B [ SHRETH I Thdl Y WYod 9 9 od 8¢ ] |

JMYRETHT :  (a) 9t X Avrenieed! Teer ¥ |

(b) F® Hre At TR T

g i
() T v e R
(i) P STFHETD AMITh SRTHHA Te2R 2 |
(i) T TR TR FHe ATE 2|
(iv) TS FHe AT SeEHd Ter T
he
Options :

(i) 3R (iv)

91394351101,
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91394251102,
91394351103.

91394351104, (lV)

Question Number : 27 Question Id ;: 91394313007 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Validity in logical reasoning refers to :

(a) Any simple single proposition

(b) Relation between premises and conclusions
(c) The conclusion alone

(d) Truth of the premises

Select the correct code from below :

Options :

(a) and (b)

91394351105.

91394351106. (b) and (C)

(b) alone

91394251107,

d) alone

91394351108. (

Question Number : 27 Question Id : 91394313007 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TeRSIioRt TeT0T Sl are fefatea § 4 foerad gefia €72
(a) hlx WA Tehed fa=m

(b) TURETR IR 76y & o= Haiy

(c) ohere fremy

(d) STURERH &l T=g
<l few g fohed # | WE e AT :

Options :
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(a) 3R (b)

91394351105.

(b) ¥R (c)

91394351106.

91394351107. (b)
(d)

91394351108.

Question Number : 28 Question Id : 91394313008 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
In a valid deductive argument, if the premises are true, then :
Options :

A — Conclusion must be false.

31 ' Drob ;
01394351110, Conclusion can be prol ably true

§1594581111 Concluston must be true.

R Conclusion may some times be true.

Question Number : 28 Question Id : 91394313008 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o dY TRTHATcHS: Tk § Afe SR 9d B, i

Options :

TRt SHeIvd FH BT =8 |
frept Huad: W & Hhd ¢ |

TRy stfemda: 9o B =nfeu |
frepd Fefi-opft W & gera 7

91394351108.

91394351110.

91394351111,

91394351112.

Question Number : 29 Question Id : 91394313009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Identify the reasoning in the following argument :
“A person without a goal is like a computer without a program”.

Options :

Hypothetical

91394351113.

a1304351114 Deductive

91394351115, Inductive

Analogical

91394351116.

Question Number : 29 Question Id : 91394313009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafaa o # | qehwfa #1 gg=ne
" AR AfeR T HE i @ ¢ Fored = g T &

Options :

91394351113.

91394351114, BULEIED

SITHATHS
91394351115

eI {ch

91394351116.

Question Number : 30 Question Id : 91394313010 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Among the following statements two are contradictory to each other. Select the code that
represents them :

Statements :

(a) All judges are lawyers.

(b) Some judges are lawyers.

(c) Some judges are not lawyers.
(d) No judges are lawyers.

Code :

Options :
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s1394351117 (@) and (b)

91394351118. (a) and (C)

1(d
91394351119, (B)omed. 1)

(b) and (d)

91394351120.

Question Number : 30 Question Id : 91394313010 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

o e A T T P R e 31 T R e 5 9 ae
<hdH

(a) G AT S € |

(b) TS AR Thr 2|

() FS ALY Thid T 2 |

(d) P Y TR T T |

che

Options :

(a) 3R (b)

91394351117,

91394351118. (El) (C)

(a) ¥R (d)

913394351118%.

(b) 3R (d)

91394351120.

Sub-Section Number: 4
Sub-Section Id: 913943663
Question Shuffling Allowed : Yes

Question Id : 91394313011 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
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Question Label | Comprehension

Number of classes taken by the teacher daily _
Name of the Remuneration
Teacher |On Monday, Tuesday and [ On Thursday and per class |
Wednesday Friday
A 2 0 T 5000
B 3 - < 3000
C 1 3 T 6000
D 2 2 T 4000
E 3 1 < 3000

The above table shows the number of classes taken by each teacher in different days of the
week and the remuneration per class per teacher. Saturdays and Sundays are holidays.
Based on the above data, answer the questions given below. One cell 1s empty and you may
need to calculate it depending upon the information available in the question.

Sub questions

Question Number : 31 Question Id : 91394313012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the total remuneration earned by teacher E in one week ?

Options :

< 12,000

913394351121.

s1394351122. % 2,000

< 23,000

913394351123.

91394351124 X 33,000

Question Number : 32 Question Id : 91394313013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

In one week, teacher B earned < 72,000. How many hours of classes did he take on Thursday
and Friday ?

Options :

91394351125, 0

1 hr. daily

91394351126.
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2 hrs. daily

91294251127,

3 hrs. daily

91394351128.

Question Number : 33 Question Id : 91394313014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The ratio of the total weekly earning of teacher A to the total weekly earning of teacher D
is :

Options :

91394351129, O - 6

91394351130 O - 4

91394351131, O - 4

91394351130 O O

Question Number : 34 Question Id : 91394313015 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The total amount spent by the teaching institute for paying remuneration to all the teachers
for taking classes on Monday only is :

Options :

91394351133, S 97,000

91394351134, < 581000

912943C113C. X 47’000

91394351136. < 52*'000

Question Number : 35 Question Id : 91394313016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assume that 4 weeks constitute a month. What will be teacher D’s earnings in a month ?

Options :

sisgazeiisy & 1,060,000



WwWw.prepp.in .repp

Your Personal Exams Guide

s1394351138. % 40,000
91394351130, % 1,20,000

91394351140. ¥ 16!000

Question Id : 91394313011 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers : (31 to 35)
Question Label : Comprehensi-:sn

forerr g1 S wan =t HE&A ki
1R = 1M
A 2 0 Z 5000
B 3 - Z 8000
& 1 3 Z 6000
D 2 2 Z 4000
E 3 1 Z 3000

39 aiferent § 9 feis g0 9 & STerT-3tar A § off 18 sl 3R ufa o gfa foners
qrisafies 1 3ot fofan T €1 aifer SiR Wer stae & feA €1

I0dad ARl % AUR W, = iU T g F TR AN TF YIS Wielt 7 3R 3Rl geA o
ST YT &% SR T IRFHAT LT TS Fohell €|

Sub quesiions

Question Number : 31 Question Id : 91394313012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T gar § ek E gr atfsia e it g

Options :

< 12,000

913394351121.

s1394351122. X 2,000

< 23,000

91394351123.

< 33,000

91394351124.
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Question Number : 32 Question Id : 91394313013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T gaE § f9ems B T 72,000 AT fFar| TR iR YRR o 96 fohan v s off 2

Options :

913394351125. 0

91394351126. 1 :

912394351127, 23’2 Ill” H
3 He¢ Ufdfeq

91394351128.

Question Number : 33 Question Id : 91394313014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fo1eteh A 3R f1e1e D g1 e Wranfeeh SIfSia 311 o1 31U ¥ :
Options :

91394351129, O - O

91394351130, O - 4

91394351131 O - 4

528

91394351132,

Question Number : 34 Question Id : 91394313015 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fee] GHAR FI el O F dget Gt frereni ol 997 S SR A & o fErervr 9™ gR 2 o
IR ¥

Options :

91394351133 % 27,000

91394351134. < 58!000

91394351135. N 471000

< 52,000

91394351136.
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Question Number : 35 Question Id : 91394313016 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AU fF Th AR H 4 FaE & | Uk "R § f9erss D &1 3ifsid 31 2t .

Options :

< 1,60,000

91394351137,

91394351138 X 40,000

2

91394351139, < 1"“‘0’000

91394351140, < 16’000
Sub-Section Number: 5
Sub-Section Id: 913943664
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394313017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are Operating Systems ?
(a) UNIX (b) Ubuntu () Mac (d) Ada
Code:

Options :

91394351141, Only (a) and (c)

Only (a), (c) and (d)

91394351142,

Only (a), (b) and (c)

91394351143.

Only (b) and (d)

91394351144,

Question Number : 36 Question Id : 91394313017 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Orred : ar Siﬁ ﬁmgﬁar : . %?
(a) Fft (b) g () HH (d) e
@'_?‘ ¢
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Options :

it (a) 3R (c)

91394351141.

fa® (a), (o) 3R (d)

91394351142.

fad (a), (b) 3R (c)

913394351143,

@ (b) 3R (d)

91394351144.

Question Number : 37 Question Id : 91394313018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IRC is the acronym of :
Options :

International Relay Chat
91394351145,

Internet Related Commerce
91394351146,

9130435114, 101ternet Relay Chat

91204351148 Information Relay Centre

Question Number : 37 Question Id : 91394313018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

3T ST HY, fohden vIe-Hay &2

Options :

91394351145, ng MEN ﬁé %2
devie feree Hind

91394351146.

91394351147. ; ﬁé %a
91294251148, 3 b |:| | ﬁ@r ﬁa

Question Number : 38 Question Id : 91394313019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

MIME stands for :

Options :

Multipurpose Internet Mail Extensions
913943511489

Multipurpose Internet Mail Entity

91394351150.

Multiple Internet Mail Extensions
91394351151,

Multiple Internet Mail Entities

91394351152.

Question Number : 38 Question Id : 91394313019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TH.3TE. 0.3, & 1 379 § 2

- AETRIE $2E Tl T
A WIH 32e Het Wl
R $ete Hel Taaeord
AT $2E Wl Tl

91394351152.

91394351148.

91394351150.

91394351151,

Question Number : 39 Question Id ;: 91394313020 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
Which of the following is a short-cut to “Undo Typing” ?

Options :

91394351153 Cul+P

Ctrl+Y

91394351154.

91334351155. Ctl+ Z

s139435115s, CLTS
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Question Number : 39 Question Id : 91394313020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fr=ifera & 9 & ' g TR 1 widee ©72
Options :

el + dt

91394351153. =

bt +

91394351154, ©

91394351155. ‘Jh&’.K"l e

ETAC R

91394351156,

Question Number : 40 Question Id : 91394313021 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

At which layer of OSI Model of Networking, HTTP works ?

Options :
Physical Layer

91394351157.

Transport Laver
91394351158, — LAlSP t Laye

91394351159. Network Layer

91394351160, Application Layer

Question Number : 40 Question Id : 91394313021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T2 F 3. TH. AR, Hied F 59 T W w209, F Far g2

Mg TR (FRisra TR)

91:394351157.

qiaed T (ZHUE o)

91394351158.

913943511589, ﬁEa?mY' & (%raa# W)
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91394351160,

Question Number : 41 Question Id ;: 91394313022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Consider the following agricultural practices :

(a) Contour bunding
(b) Relay cropping
(c) Zero tillage

In the context of global climatic change, which of them help/helps in carbon
sequestration/ storage in the soil ?

Options :

~ (a) and (b) only

91394351161

9139431162 (C) Unl}f

(a) and (c) only

91394251163,

(a), (b) and (c)

91394351164.

Question Number : 41 Question Id ;: 91394313022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frafafEa Fiv Isfa | fo=Er SiET

() SE-YETE STEeh M

(b) & wEa

(c) YA

Sf¥as wictarg IRad & Hey H s 9 forad /T g1 § ohieie Yeaaer/ WenY ¥ Heg fhed §7
Options :

Fad (a) 3R (b)

91394351161.

% (c)

91394351162.

FAA (a) 3R ()

91394351163,
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91294251164,

Question Number : 42 Question Id : 91394313023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
Find the odd one from below :
Options :

91394351165, PEI'CE:‘IVIIlg

Listening
91394351166,

91394351167 Nferring

Comprehending
91394351168,

Question Number : 42 Question Id : 91394313023 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Options :

EeticTUNQIRIENY

912943C11¢€%.

91394351166. A9

91394351167. j ( : )

913943511683. a‘a

Question Number : 43 Question Id : 91394313024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Largest amount of freshwater is present in :

Options :

91394351160 Lakes

91394351170. Rivers
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Glaciers
91394351171,

a1394351172 T OlAT ice

Question Number : 43 Question Id : 91394313024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks ;

AT U bt Gatfeer | faemm 2l ©

Options :

SER L
crsosssizo e
TR
s s 3

91394351171.

913394351172

Question Number : 44 Question Id : 91394313025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Least polluting energy generating technique among the following is :

Options :

01394351175 Magneto-hydrodynamic

91394351174. Ther L PoeE

Fission based nuclear energy
91394351175,

01394551176 Photovoltaic

Question Number : 44 Question Id : 91394313025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefatad | <Faq IguYT 3 AT el Sclleeh eI ¢

Options :

91394351173, | lil—%lsglgl ITH
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HE el

91294251174,

o130435117c [P STURE MfYRTg S
FREAeH

913394351176.

Question Number : 45 Question Id ;: 91394313026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : Hails damage the standing crops.

Reason (R) : In India, hails occur only during the winter season.
Code :

Options :

e Both (A) and (R) are true and (R) is the correct explanation of (A).

91394351178 Both (A) and (R) are true and (R) is not the correct explanation of (A).

o139435117 (A) I8 true, but (R) is false.

01394351150, (A 18 false, but (R) is true.

Question Number : 45 Question Id : 91394313026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optmn Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

TR (A) : Wﬁwﬁwwm%|
&HIUT (R) : gRd H Segfe Fae e &% Hey o il B
he

91394;511?? (A) W (R) A HE € AR (R), ( aﬂ T AT B
91394351178 (A) 3R (R) <l e € 3R (R), (A) =l Hel SR &l gl

91394351179, p—fﬁ % fohg (R) TeTd 1
(A) TTed %, fohg (R) 921 T

91394351180.
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Question Number : 46 Question Id : 91394313027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who was the Chairman of Secondary Education Commission set up in 1952 ?
Options :

Dr. B.R. Ambedkar

91394351181.

Sh. K.C. Pant

91394351182.

01394351153 Y- A.L. Mudaliar

sEEEET ey LI S. Radhakrishnan

Question Number : 46 Question Id : 91394313027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1952 ¥ weniyq Tedia fSier ST & 39598 oA 92
| 2l 1.3, TSH

91394351181.

41 .9l Iq

91394351182.

913394351183. i Q'.'Ia H

gl TH. YUHFUH

&

91394351184.

Question Number : 47 Question Id : 91394313028 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match Set - I with Set - I1 :

Set - 1 Set - 11

(Regulatory body) (Field of regulation)
(a) NCTE () Law
(b) BClI (i)  Architecture
(c) COA (iii) Professional courses
(d) NBA (iv) Teacher education
Code :

(@) (b) (c) (d)
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Options :

01394351185, () (D) (v) (i)

91394351136. (IV) (1) (]_1) (]_LI)
91394351157. (1) (IV) (111) (11)

91394351188. (Hl (IV) (1) (Il)

Question Number : 47 Question Id : 91394313028 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

WU - I o 99g-11 ¥ faem &1 .

e -1 g - 11

( Tafrarmer ) (Farfsrame =1 )
(a) WHAZ i) fafy
(b) S &l SR (ii) ST
() WaAT (iii) AT TEThy
(d) TIT (iv) STeTah Hidmeror

(@) (b) (c) (d)

Options :

sissaseiige ) (H) V) )
siseassse @) @ (@) (i)

sissssiies A ) (@A) (@)

91394351138. (111) (IV) (1) (ﬂ)

Question Number : 48 Question Id : 91394313029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The LEAP programme of MHRD is aimed to train University faculties in :

Options :
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81394351180, Scientific research

Academic leadership
91394351190,

- New technology

91394351191

91394351192 Institutional economics

Question Number : 48 Question Id : 91394313029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e G1E foema HAerd & LEAP S &1 3evd favdfaened ferg=< i f=ifed 5 9 fea §
giRfad e 82

Options :

91394351189. m Qﬁ?-‘:[
T HE g
ECIER IEIRIED]

91394351191.

91394351190.

T 3{eieaee

91394351192.

Question Number : 49 Question Id : 91394313030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The National Education Day is celebrated to commemorate the birth anniversary of :

Options :

91394351193 Dr. Zakir Hussain

91394351104 JUStice Hidayathulla

91394351195, A.P.J. Abdul Kalam

Maulana Abul Kalam Azad

91394351196

Question Number : 49 Question Id : 91394313030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T et fearg w1 SIS forgs S=afeay W e < &2

Options :

S, TR goA
91394251193,

SR fEerIdee

91394351194,
91394351195, TS TgA HA™
91394351196, LI el hdH HISIQ

Question Number : 30 Question Id : 91394313031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
With reference to ‘Right to Education’ (RTE) which among the following 1s correct ?
Options :

s Making higher education upto 21 years of age a fundamental right.

T — Providing free uniforms to students upto 18 years of age.

No examination of students upto 14 years of age.
91394351199,

Making elementary education upto 14 years of age a fundamental right.
91394351200. -

Question Number : 30 Question Id : 91394313031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Rorell 1 SRR’ (ARAL.) F R & Freifd 7 Qb

Options :

21 I i Y Tk A 8T 1 ifard s |

91384351 197:

18 Y ki 31 ek < Torenfeii =l 14 Ycek 9Iemes UM |

913943511983.

91394351199, 14 =9 <l Wﬁﬁ?wﬁf@f?ﬁﬂﬁwﬂéém
14 99 =1 37g e MAfHek e 1 stf9ear s |

91394351200,
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Question Number : 51 Question Id ;: 91394313032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : Ne Option Orientation : Vertical
Correct Marks : 2 Wrong Marks :

An inversion layer extends from ground surface to a height of 200 m. The
temperature on the ground surface is 35°C. If the environmental lapse

rate is 4-0°C per km, the temperature at the top of the layer is

Options :

=.Qo0
91394351201, 59°8°C

.90
91394351202. 342°C

o
91294251203, 43°C

-
91394351204 21 C

Question Number : 31 Question Id : 91394313032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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An inversion layer extends from ground surface to a height of 200 m. The
temperature on the ground surface is 35°C. If the environmental lapse
rate is 4-0°C per km, the temperature at the top of the layer is

Options :

=.Qo0
91394351201, 59°8°C

.90
91394351202, 34:2°C

o
91394351203. 43°C

e
91394351204 21 C

Question Number : 52 Question Id : 91394313033 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Water vapour in an urban atmosphere is found to exert a pressure of
6:0 mb at 27°C. The density of water vapour is

Options :

~ 4-34 x 1073 kg/m®
91394351205,

3 3

—~ 1.9 .
91394351006, 129X 107" ke/m

e 3 3
91394351207, ~ 2'69% 107" kg/m

—p -3 3
91394351208, ~ 631 x 107 kg/m

Question Number : 52 Question Id : 91394313033 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Water vapour in an urban atmosphere is found to exert a pressure of
6:0 mb at 27°C. The density of water vapour is

Options :

~ 4-34 x 1073 kg/m®
91394351205.

o 3, ;.3
91394351206, ~ 129X 107" kg/m

e 3 3
91394351207, — 2'69% 107" kg/m
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~ 6-31 x 1073 kg/m?®

Question Number : 53 Question Id : 91394313034 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Stratosphere is a strongly layered structure.
Reason (R) : Stratosphere is neutrally stable.

Code:

Options :

91394351208.

91394351210.

91384351211.

91384351212

Both (A) and (R) are correct and (R) is the correct explanation of (A).

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Question Number : 53 Question Id : 91394313034 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Stratosphere is a strongly layered structure.
Reason (R) : Stratosphere is neutrally stable.

Code:

Options :

91394351208.

91394351210.

91394351211.

913394351212.

Both (A) and (R) are correct and (R) is the correct explanation of (A).

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Question Number : 34 Question Id : 91394313035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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If the scale height for pressure in atmosphere is assumed to be 7 km, what will be the
pressure at a height of 21 km above the ground surface ?

Options :

— 3 P.
91394351213 2 X 10° Pa

s 4
91394351214, ~ 33x 107 Pa

4
~ 19
91394351215, ~ 1'25x 107 Pa

o 1
91394351216, ~ 1'11x 107 Pa

Question Number : 54 Question Id : 91394313035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

If the scale height for pressure in atmosphere is assumed to be 7 km, what will be the
pressure at a height of 21 km above the ground surface ?

Options :

_ 3
91394351213 0 X 10° Pa

s 4
91394351014, — 33x 107 Pa

4
~ 19
91394351215, — 1'25x 10" Pa

s s 4
91394351216, ~ 1'11x10%Pa

Question Number : 55 Question Id : 91394313036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following types of motion contributes to vertical transport of latent and
sensible heat in surface layer ?

Options :

91394351017, Ipermals

Deep convection
91394351218%.

91394351019 Molecular conduction and diffusion

91394351220 Microscale turbulence
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Question Number : 55 Question Id : 91394313036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following types of motion contributes to vertical transport of latent and
sensible heat in surface layer ?

Options :
91394351017, Lpermals
Deep convection
91394351218,
91394351019 Molecular conduction and diffusion
91394351220 Microscale turbulence

Question Number : 56 Question Id : 91394313037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The natural systems are sustainable.
Reason (R) : Natural systems are reliant on Sun’s energy.

Code :
Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351221,
Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351222,
(A) is true, but (R) is false.
91394351223,
(A) is false, but (R) is true.
91394351224,

Question Number : 36 Question Id : 91394313037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The natural systems are sustainable.
Reason (R) : Natural systems are reliant on Sun’s energy.
Code:

Options :
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Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351221,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351222,

(A) is true, but (R) is false.
91394351223,

(A) is false, but (R) is true.
91394351224,

Question Number : 57 Question Id : 91394313038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Alpine timberline in the snow clad mountainous regions varies with the
latitude.

Reason (R) : Temperature and moisture at higher latitudes are the limiting factors.
Code:

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351225,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351226,

(A) is true, but (R) is false.
91394351227.

(A) is false, but (R) is true.
91394351225,

Question Number : 57 Question Id : 91394313038 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Alpine timberline in the snow clad mountainous regions varies with the
latitude.

Reason (R) : Temperature and moisture at higher latitudes are the limiting factors.
Code :
Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351225,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351226,
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(A) is true, but (R) is false.
91394351227,

(A) is false, but (R) is true.
913943512283.

Question Number : 5§ Question Id : 91394313039 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

A student prepared a calibration curve by measuring the absorbance of
five standard solutions of a compound at 300 nm. A cuvette with a path
length of 5:0 cm was used in the spectrophotometer. The slope of the curve

was 300-0 L mol™L. The molar absorptivity of the compound is
Options :

: 11
91394351209, ©'0 Lymol ™ em

. 41
91394351230, 000 Limol™ em

1500-0 L mol ™t em™
91294=251221.

0-2 Lmol™t em™
91394351232,

Question Number : 38 Question Id : 91394313039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A student prepared a calibration curve by measuring the absorbance of
five standard solutions of a compound at 300 nm. A cuvette with a path
length of 5:0 cm was used in the spectrophotometer. The slope of the curve

was 300-0 L mol™L. The molar absorptivity of the compound is

Options :

; 11
91394351229 90 Lmol™ cm

, I |
91394351230, 00°0 Lmol™ em

1500-0 L mol L em™
91394=51231.

0-2 L mol™ em™
9123942351222,

Question Number : 59 Question Id ;: 91394313040 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The acid rain lowers the fertility of soil.
Reason (R) : Hydrogen ions exchange the nutrient anions,

Code :
Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394251233,
Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351234,
(A) is true, but (R) is false.
91394351235,
(A) is false, but (R) is true.
91394351236,

Question Number : 59 Question Id : 91394313040 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The acid rain lowers the fertility of soil.
Reason (R) : Hydrogen ions exchange the nutrient anions.

Code :
Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351233,
Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351234,
(A) is true, but (R) is false.
91394351235,
(A) is false, but (R) is true.
91394351236,

Question Number : 60 Question Id : 91394313041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following analytical techniques can help elucidate an elemental fingerprint
without the need to analyze the material destructively ?

Options :

Spectrophotome
91394351237. ¥ try
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Flame photome
91294=51228. E hey

Atomic Absorption spectrosco
91384351238. P Py

X-ray fluorescence spectrome
913894351240, 4 by

Question Number : 60 Question Id : 91394313041 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which of the following analytical techniques can help elucidate an elemental fingerprint
without the need to analyze the material destructively ?

Options :

Spectrophotome
91394351237. P try

Flame photome
91394351238, B oy

Atomic Absorption spectrosco
91394351238, = R

X-ray fluorescence spectrome
91394351240, Y o

Question Number : 61 Question Id : 91394313042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the two lists given below, List I provides the list of Soil Horizons, while List IT indicates
Layers. Match the two lists and choose the correct answer from the code given below :

List 1 List IT
(Soil Horizons) (Layers)
@y o (i) Parent Rock
iy (ii) Organic Matter
(c) B (iii) Surface Soil
D C (iv) Subsoil
Code:
Options ;
organsyoyy | -y (i), (el (=
91394351240, 2B (D)), (e)-(iiD), (d)~(iv)
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(a)—(iv), (b)—(i), (e)—(ii), (d)—(iii)

Question Number : 61 Question Id : 91394313042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the two lists given below, List I provides the list of Soil Horizons, while List I1 indicates
Layers. Match the two lists and choose the correct answer from the code given below :

List I

List II

(Soil Horizons) (Layers)

(a) O
(b) A
(c) B
(d) C
Code :

Options :

91394351241.

91394351242.

91394351243.

91394351244.

(i) Parent Rock
(i) Organic Matter
(iii) Surface Soil
(iv) Subsoil

(a)-(ii), (b)(iil), (e)—(iv), (d)—(1)

(a)—(D), (b)—(ii), (e)iii), (d)—(iv)

(a)-(iii), (b)—(iv), (e)-(ii), (d)—(i)

(a)-(iv), (b)—(i), (e)-(id), (d)—(iii)

Question Number : 62 Question Id : 91394313043 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
pH of dust free and unpolluted rainwater is 5-6 due to dissolution of

Options :

913394351245.

91394351246,

913394351247,

913394351248,

S0,

co,

NO,

HO,

Question Number : 62 Question Id ;: 91394313043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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pH of dust free and unpolluted rainwater is 5-6 due to dissolution of

Options :

91394351245.

91394351246,

91394351247,

91394351248,

S0,

co,

NO,

HO,

prepp
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Question Number : 63 Question Id : 91394313044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : Ne Option Orientation : Vertical
Correct Marks : 2 Wrong Marks :

Among the gases : Ny, Oz, COo, SOy, NO,, CO, and O, the permanent

atmospheric gases are

Options :

913394351248,

91394351250.

91394351251.

913894351252.

Ng, 02 and COQ

COs, SO, and NO,_

Nz, 02 and 03

Ng and 02

Question Number : 63 Question Id : 91394313044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Among the gases : Ny, Oz, COo, SO, NO,, CO, and O, the permanent

atmospheric gases are

Options :

913394351248,

91394351250.

91394351251.

913894351252.

Ng, 02 and COQ

COs, SO, and NO,

Nz, 02 and 03

Ng and 02
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Question Number : 64 Question Id : 91394313045 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The most photo stable species in troposphere is
Options :

913394351253. NEO

91394351254, L

91394351255, NO,

NyOy
91394351256

Question Number : 64 Question Id ;: 91394313045 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The most photo stable species in troposphere is
Options :

912394351253, N20

91394351254. NO

91394351255, NO,

NyOy
91394351256,

Question Number : 65 Question Id ; 91394313046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The major component of voleanic gas emissions is

Options :

CO
91394351257,  ©

913294351258, S0

91394351259, Hy0

91394351260, OF
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Question Number : 65 Question Id : 91394313046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The major component of voleanic gas emissions is

Options :

CO
91394351257,  ©

913294351258, S0

91394351259, Hy0

91294351260, BE

Question Number : 66 Question Id ; 91394313047 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which one of the following countries has maximum percent of the world’s total tropical
forests ?

Options :
91394351061, Louvia

9139435106 ndonesia

91394351063, Drazil

91394351064 ndia

Question Number : 66 Question Id ; 91394313047 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which one of the following countries has maximum percent of the world’s total tropical
forests ?
Options :
Bolivi
91394351261, 0

9139435106 ndonesia

91394351063, Drazil

91394351064, 142
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Question Number : 67 Question Id : 91394313048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The area of the water column at which light intensity is just sufficient for rate of
photosynthesis to be equal to the rate of respiration is called

Options :

91394351065, ' potic zone

Decomposition zone
91394351266.

Aphotic depth
91394351267,

Compensation depth
91394351268,

Question Number : 67 Question Id : 91394313048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The area of the water column at which light intensity is just sufficient for rate of
photosynthesis to be equal to the rate of respiration is called

Options :

91394351065, T potic zone

Decomposition zone
91394351266.

Aphotic depth
91394351267,

Compensation depth
91394351268,

Question Number : 68 Question Id : 91394313049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Saprophytic components of the community are dominated by
Options :

Herbivore organisms
91394351269,

Micro organisms
91394351270.

Macro organisms
91394351271.
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Autotrophic organisms
91394351272

Question Number : 68 Question Id : 91394313049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Saprophytic components of the community are dominated by

Options :

Herbivore organisms
913943512689,

Micro organisms
91394351270,

Macro organisms
91394351271,

Autotrophic organisms
91394351272,

Question Number : 69 Question Id : 91394313050 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If mean annual precipitation and mean annual temperature are the lowest, then which
type of a major vegetation dominates ?

Options :

Desert vegetation
91394351273,

Taiga vegetation
91394351274, Sk

Tundra vegetation
91394351275.

Shrubland vegetation
91394351276.

Question Number : 69 Question Id : 91394313050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If mean annual precipitation and mean annual temperature are the lowest, then which
type of a major vegetation dominates ?

Options :

Desert vegetation
91394351273,

Taiga vegetation
91394351274, ERNE
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Tundra vegetation
91394351275,

Shrubland vegetation
91394351276.

Question Number : 70 Question Id : 91394313051 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
Which one of the following plateaus is the third largest reservoir of ice in the world ?

Options :

91394351277, T aveau Rosa
91394351278, Breithorn Plateau
91394351079, T orwegian Plateau
91394351250, LngnalTibet Flateau

Question Number : 70 Question Id : 91394313051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following plateaus is the third largest reservoir of ice in the world ?

Options :

91394351277, T ateau Rosa
91394351273, Breithorn Plateau
91394351270, Orvegian Plateau
91394351280, Qinghai-Tibet Plateau

Question Number : 71 Question Id : 91394313052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Thiamine depletion in oceanic water column is a driver for wildlife decline.

Reason (R) : Thiamine is required for cellular metabolism and its deficiency causes
immunosuppression.

Code:

Options :
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Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351281.

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351282,

(A) is true, but (R) is false.
91394351283,

(A) is false, but (R) is true.
91394351284,

Question Number : 71 Question Id : 91394313052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Thiamine depletion in oceanic water column is a driver for wildlife decline.

Reason (R) : Thiamine is required for cellular metabolism and its deficiency causes
immunosuppression.

Code:
Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351281.

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351282.

(A) is true, but (R) is false.
91394351283.

(A) is false, but (R) is true.
91394351254,

Question Number : 72 Question Id : 91394313053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The profundal zone of oligotrophic lakes is characterized by
Options :
low biomass
91394351285,

high biomass
91394351286,

average biomass
91394351287.

very high biomass
91394351288. i
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Question Number : 72 Question Id : 91394313053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The profundal zone of oligotrophic lakes is characterized by

Options :

91394351055, 1°V blomass

high biomass
91394351286.

average biomass
91394351287.

very high biomass
913894351288. o

Question Number : 73 Question Id : 91394313054 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sorghum is a

Options :

C; plant
913943512889.

C, plant
913943512390,

CAM plant
91394351291.

Perennial plant
91394351292,

Question Number : 73 Question Id : 91394313054 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sorghum is a
Options :
C; plant
91394351289,
C, plant
91394351290,
CAM plant

91394351291.
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Perennial plant
91394351292,

Question Number : 74 Question Id : 91394313055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
High juvenile mortality is the characteristic feature of

Options :

r-selected population
91394351293,

K-selected population
91394351294,

r- and K-selected population
91394351295,

c-selected population
91394351296,

Question Number : 74 Question Id : 91394313055 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
High juvenile mortality is the characteristic feature of
Options :

r-selected population
91394351293,

K-selected population
91394351294,

r- and K-selected population
91394351295,

c-selected population
91394351296,

Question Number : 75 Question Id : 91394313056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Transpiration rates in early successional plants are
Options :

igh
91384351297, Hig

913943512983.
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91394351099, Medium

Very low
91394351300,

Question Number : 75 Question Id : 91394313056 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

Transpiration rates in early successional plants are

Options :

igh
91394351297. Hig

913943512983.

91394351099, Medium

Very low
91294=51300. e

Question Number : 76 Question Id : 91394313057 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following countries has the highest ecological footprint ?

Options :

91394351301, CPina

91394351302, 1ndia

91394351303, Drazil

91394351304, South Africa

Question Number : 76 Question Id : 91394313057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following countries has the highest ecological footprint ?

Options :

91394351301, CPina

91394351302, 1ndia
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91394351303, Drazil

91394351304, South Africa

Question Number : 77 Question Id : 91394313058 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Wildlife corridors facilitate

Options :

Continuous exchange of organisms
91394351305,

Discontinuous exchange of organisms
91394351306,

Inhibition of exchange of organisms
91394351307,

Disruptions in metapopulations
91394351308, ? e

Question Number : 77 Question Id : 91394313058 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Wildlife corridors facilitate

Options :

Continuous exchange of organisms
91394351305.

Discontinuous exchange of organisms
91394351306.

Inhibition of exchange of organisms
91394351307.

Disruptions in metapopulations
913943513083. ? ey

Question Number : 78 Question Id : 91394313059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A dwarf forest that occurs in regions with winter rain-summer drought and is adapted to
fire is
Options :

Chaparral forest
913942351309,
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Tropical forest
91294=51310.

Temperate forest
913945513511,
91394351310, Decduous forest

Question Number : 7§ Question Id ;: 91394313059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

A dwarf forest that occurs in regions with winter rain-summer drought and is adapted to

fire is

Options :

Chaparral forest
913943513089.

Tropical forest
91394351310.

Temperate forest
91394351311.
91394351312 Deciduous forest

Question Number : 79 Question Id : 91394313060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Edges in landscapes generally have more generalist species.
Reason (R) : Edges have unique habitats.

Code:

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351313,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351314,

(A) is true, but (R) is false.
91394351315.

(A) is false, but (R) is true.
91394351316,

Question Number : 79 Question Id : 91394313060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Edges in landscapes generally have more generalist species.
Reason (R) : Edges have unique habitats.

Code:
Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351313,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351314,

(A) is true, but (R) is false.
91394=25131%.

(A) is false, but (R) is true.
91394351316,

Question Number : 80 Question Id : 91394313061 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If Arctic ice is replaced by forests, which of the following situations will arise ?

Options :

It will accelerate global warming
91394351317.

It will have no effect on global warming
91394351318,

It will decelerate global warming
91394351319.

Arctic ice will return after sometime and forests will disappear
91394351320.

Question Number : 80 Question Id : 91394313061 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If Arctic ice is replaced by forests, which of the following situations will arise ?

Options :

It will accelerate global warming
91394351317.

It will have no effect on global warming
91394351318,
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It will decelerate global warming
91394351319

Arctic ice will return after sometime and forests will disappear
91394351320.

Question Number : 81 Question Id : 91394313062 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
Kleptoparasitism refers to

Options :

Obligate parasitism
91394351321.

Facultative parasitism
91394351322,

Ectoparasitism
91394351323.

Stealing food from another predator’s catch
91394351324.

Question Number : 81 Question Id ;: 91394313062 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Kleptoparasitism refers to

Options :

Obligate parasitism
91394351321.

Facultative parasitism
91394351322,

ctoparasitism
913294251323,

Stealing food from another predator’s catch
91394351324.

Question Number : 82 Question Id : 91394313063 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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Lacustrine zone in a reservoir
(i) is broad deep lake-like basin

(i1) is autochthonous

(iii) has P> R
(iv) has turbid water
Choose the correct answer from the code given below :
Code :
Options :
Only (i), (iii), (iv
91394351325, O W (), (V)
Only (i), (ii), (iii
91304351306, On W, ), (D)
Only (i), (iii), (i
91394351307, Oy (W (D, ()
i’ i'i: iii) and (iv
91394351305, O i) (i) and (1v)

Question Number : §2 Question Id : 91394313063 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0
Lacustrine zone in a reservoir

(i) is broad deep lake-like basin
(i1) is autochthonous

(iii) has P> R

(iv) has turbid water

Choose the correct answer from the code given below :

Code :
Options :
Only (), (i), G
01394351305, Oy B (), ()
Only (i), (ii), (iii
91304351306, On W, ), (D)
0]11 ﬁ}: iii, v
91394351327, _ny W, (), ()
i}i ii: iii) and (iv
91394351305, O U (D) and (1v)

Question Number : 83 Question Id : 91394313064 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Based on the random assessment of four years, the Mean Net Production
and Standard Deviation for a grassland are 120 gC/m”/year and

4 gC;’mgfyear, respectively. The 90% confidence interval around this
estimate (t at 10% level of significance for df 3 is 2:353) is
Options :

)
91294351300 120 + 8:613 gC/m“/year

20 + 4. 2
91294351330, 120 + 4-706 gC/m*“/year

2
20+ 2- P
91394351331, 120 T 2'353 gl/m"/year

120 + 9-412 oC/m?%/
91394351332, gC/m*/year

Question Number : 83 Question Id : 91394313064 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Based on the random assessment of four years, the Mean Net Production
and Standard Deviation for a grassland are 120 gC/m%year and
4 gC/m?year, respectively. The 90% confidence interval around this
estimate (t at 10% level of significance for df 3 is 2-353) is

Options :

21

20 + 4. 2
91294351330, 120 + 4-706 gC/m*“/year

2
20+ 2- 2
91394351331, 120 T 2'353 gl/m"/year

120 + 9-412 gC/m?/
91394351332, gC/m~/year

Question Number : 84 Question Id : 91394313065 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A predator runs to a distance from its hideout at a speed of 60 km/hr to hunt a prey and
then drags the prey to the same hideout at a speed of 30 km/hr. The average speed of the
predator is

Options :

91394351333, 18 kwhr
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91394351334, 10 kawhr
91394351335, o0 kwhr
91394351336, 02 Kwhr

Question Number : 84 Question Id ;: 91394313065 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

A predator runs to a distance from its hideout at a speed of 60 km/hr to hunt a prey and
then drags the prey to the same hideout at a speed of 30 km/hr. The average speed of the

predator is

Options :

91394351333, 18 kwhr
40 km/h

91394351334, d
36 km/h

91394351335, d
52 km/h

91394351336, !

Question Number : 85 Question Id : 91394313066 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Two groups of five vehicles each running on diesel and petrol respectively,

produce 6-4 kg and 5 kg emissions per day. Given the population standard
deviation 4 and tggs = 2:306, test whether emissions of diesel and petrol

vehicles differ significantly ?

Options :
t calculated walue < 2-306, thus emissions do not differ
91394351337, significantly.
— s :
S{SedueinsE t calculated value 306, thus they produce equal emissions

t calculated wvalue > 2-306, thus emissions do not differ
91394351339, Significantly.

91394351340 U calculated value = 2-306, thus emissions differ significantly.

Question Number : 85 Question Id : 91394313066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Two groups of five vehicles each running on diesel and petrol respectively,

produce 6-4 kg and 5 kg emissions per day. Given the population standard
deviation 4 and tggg = 2-306, test whether emissions of diesel and petrol

vehicles differ significantly ?

Options :

t calculated wvalue < 2-306, thus emissions do not differ
91394351337, significantly.
o t calculated value = 2:306, thus they produce equal emissions.

t calculated wvalue > 2:306, thus emissions do not differ
91394351339, Significantly.

91394351340 U calculated value = 2-306, thus emissions differ significantly.

Question Number : 86 Question Id : 91394313067 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many ways can eight tigers in a cage be fed with three small wild animals, three small

goats and two domestic fowls ?

Options :
91394251341, &

560
91394351342,

580
91394351343,

210
91394351344,

Question Number : 86 Question Id ;: 91394313067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

How many ways can eight tigers in a cage be fed with three small wild animals, three small

goats and two domestic fowls ?
Options :
70
91394351341,

91394351342. 560
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913843513543. 250

91394351344. 210

Question Number : 87 Question Id : 91394313068 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A tributary flowing at a rate of 4 m%/s converges into a river flowing at a

rate of 8-0 m%/s. The concentration of a pollutant X’ at the upstream of the
tributary before convergence was 12 mg/Li and that of the river was
30 mg/L. If the pollutant X is completely mixed in the downstream, what
would be its concentration ?

Options :
30 mg/L
913594351345, e
21 mg/L
913594351346.
42 mg/L
913594351347. n.
24 mg/L
91394351348,

Question Number : 87 Question Id : 91394313068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A tributary flowing at a rate of 4 m?/s converges into a river flowing at a

rate of 8-0 m%/s. The concentration of a pollutant X’ at the upstream of the
tributary before convergence was 12 mg/Li and that of the river was
30 mg/L. If the pollutant X is completely mixed in the downstream, what
would be its concentration ?

Options :
30 mg/L
91384351345, oF
21 /L
91384351346, o
42 /L
91384351347, =5
24 mg/L
913843513485,

Question Number : 88 Question Id : 91394313069 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Initial population of a species in an ecosystem is 1000 and its growth rate is 09 per year.
The carrying capacity of the ecosystem is 10,000. Assuming a logistic growth for the
population of the species, what is the maximum sustainable yield of the ecosystem ?

Note: For this question, discrepancy 1s found in question/answer. So,this question 1s ignored for all

candidates.
Options :
2500 species/year
91394351349, y
5000 species/year
91394351350. 4
500 speci ear
91394351351. es/y
250 speci ear
91394351352, oy

Question Number : 88 Question Id : 91394313069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Initial population of a species in an ecosystem is 1000 and its growth rate is 0-9 per year.
The carrying capacity of the ecosystem is 10,000. Assuming a logistic growth for the
population of the species, what is the maximum sustainable yield of the ecosystem ?

Note: For this question, discrepancy 1s found in question/answer. So,this question 1s ignored for all

candidates.
Options :
2500 species/year
91394351349, 4
5000 species/year
91394351350. ¥
500 speci ear
91394351351. 0y
250 speci ear
91394351352, oy

Question Number : 89 Question Id : 91394313070 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Consider Gaussian-point source dispersion model with effective stack

height H and dispersion coefficient o, = % . If the effective stack height
H increases by 10%, the downwind ground-level concentration of

pollutants would

Note: For this question, discrepancy is found in question/answer. So,this question 1s ignored for all
candidates.
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Options :

increase by 20%
91394351353,

decrease by 20%
91394351354.

increase by 5%
91394351355,

decrease by 5%
91394351356.

Question Number : 89 Question Id : 91394313070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider Gaussian-point source dispersion model with effective stack

height H and dispersion coefficient o, = £ . If the effective stack height

NG

H increases by 10%, the downwind ground-level concentration of
pollutants would

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all
candidates.
Options :

increase by 20%
91394351353,

decrease by 20%
91394351354.

increase by 5%
91394351355,

decrease by 5%
91394351356.

Question Number : 90 Question Id : 91394313071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Human ear is most sensitive to noise in the frequency range

Options :

91394351357, 1-5 k2

91394351358 £~ 6 KHz
0:2-=0-8 kHz

91394351359.
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91394351360, 00— 1 kHz

Question Number : 90 Question Id : 91394313071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Human ear is most sensitive to noise in the frequency range

Options :

91394351357, 1 -5 ktiz

91394351358 £~ 6 KHz

92— 0-8 kHz
912394251354, 0 e

91394351360, 00— 1 kHz

Question Number : 91 Question Id : 91394313072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The permissible noise level during day time in a silence zone in India
represented by Lgg (8 hrs) is

Options :

0 dB(A
913943513¢1. 0dbey

50 dB(A)
91394351362.

5 A
91394251363, Sl

91394251364, By

Question Number : 91 Question Id : 91394313072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The permissible noise level during day time in a silence zone in India
represented by Lgg (8 hrs) is

Options :

40 dB(A)
91394351361.

0 dB(A
91394351362, SABLY
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A
91394351363 SEBLY

A
91394251364, S

Question Number : 92 Question Id : 91394313073 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

In the two lists given below, List I provides the list of Pollutants, while List IT indicates
Health Effects. Match the two lists and choose the correct answer from the code given

below :
List I List II
(Pollutant) (Health Effect)
(2) SO, () Nerve and blood effects
(b) Oy (i) Bronchitis
(d) Pb (iv) Pulmonary injury
Code :
Options :
i b 1 . d sas
s1sgazstses 0B (e-tv), (d)-CH
o h -
sigiseiage Ul -0 LD, Tiv)
iv), (b)—(iii . (d)—(i
91394351267, V) (B)-(ib), (-0, (d)~(i)
o 5 T
siEsaEssEs T el

Question Number : 92 Question Id : 91394313073 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the two lists given below, List I provides the list of Pollutants, while List IT indicates
Health Effects. Match the two lists and choose the correct answer from the code given

below :
List 1 List I1
(Pollutant) (Health Effect)
(a) SO, (i) Nerve and blood effects
(b) 03 (i) Bronchitis
(¢) CO (iii) Asphyxiant
(d) Pb (iv) Pulmonary injury

Code:
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Options :

siz0dseizes AW ), (-G, (d)-GiiD)

oyzsansyeey: | i (b, (-, (d)-(e)

Question Number : 93 Question Id : 91394313074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : CFCs are able to penetrate the stratosphere.
Reason (R) : CFCs are highly unreactive.
Code:

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351369,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351370,

(A) is true, but (R) is false.
91394351371.

(A) is false, but (R) is true.
91394351372,

Question Number : 93 Question Id : 91394313074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : CFCs are able to penetrate the stratosphere.
Reason (R) : CFCs are highly unreactive.
Code:
Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351369,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351370,
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(A) is true, but (R) is false.

(A) is false, but (R) is true.

Question Number : 94 Question Id : 91394313075 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In general a rise in temperature of water adversely affects the aquatic life.
Reason (R) : An increase in temperature causes hyperoxia among aquatic species.

Code :

Options :

91394351373.

91394351374.

91394351375.

913394351376.

Both (A) and (R) are correct and (R) is the correct explanation of (A).

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Question Number : 94 Question Id : 91394313075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In general a rise in temperature of water adversely affects the aquatic life.
Reason (R) : An increase in temperature causes hyperoxia among aquatic species.

Code :

Options :

91384351573.

91394351374.

913894351375.

91394351376.

Both (A) and (R) are correct and (R) is the correct explanation of (A).

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Question Number : 95 Question Id : 91394313076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

The secondary pollutant in the troposphere is

Options :

Co,

913394351577.

S0,
91394351378,

NO

X

91339435135789.

03
91394351380,

Question Number : 95 Question Id : 91394313076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The secondary pollutant in the troposphere is

Options :

Co,

913394351577.

S0,
91394351378,

NO

X

91339435135789.

03
91394351380,

Question Number : 96 Question Id : 91394313077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is not a precursor of classical smog ?

Options :

Sulphur dioxide
91394351381,

Sunlight
91394351382,

Fog
91394351333,

91394351354, erosols
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Question Number : 96 Question Id : 91394313077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is nof a precursor of classical smog ?

Options :

Sulphur dioxide
91394351381.

Sunlight
91394351382,

Fog
91394351383,
91394351334, Aerosols

Question Number : 97 Question Id : 91394313078 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Among the chemical species :

(i) HsCOg
(ii) HCOg
92—

(i1i) COg
(iv) CI”
the pH of natural waters is controlled mainly by
Options :

Only (i) and (ii
91394351385, 00 W and @)
91394351336, nly (i), (i) and (iii)

Only (ii) and (iv)
913394351387.
91394351388, (1), (i), (iii) and (iv)

Question Number : 97 Question Id : 91394313078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Among the chemical species :

) HyCOg

(ii) HCOgj

9 __

(i11) COg

(iv) CI”

the pH of natural waters is controlled mainly by
Options :
913394351385. O PR
91394351386, Orly (@ U0 and (i)

Only (ii) and (iv)

913394351387.
91394351353, W () and V)

Question Number : 98 Question Id : 91394313079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The preferred form of nitrogen for uptake by most plants is

Options :

91394351388.
91394351390,

91394351391.

NO3z
91394351392,

Question Number : 98 Question Id : 91394313079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The preferred form of nitrogen for uptake by most plants is

Options :

N2
91394351389.
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NH;
91394351390.

=+
NH
91394351391.

NO3z
91389435139Z.

Question Number : 99 Question Id ; 91394313080 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
With regard to processing of organic matter by soil dwelling macro- and micro- fauna
consider the following two statements :
(A) Phytophagous organisms consume living plant material.
(B) Sarcophagus organisms consume dead plant material.
Choose the correct answer from the code given below :

Code:
Options :
B
$1394351363. Both (A) and (B) are true
Both (A) and (B) are false
91394351394,
; Vis
1394351395 (A) is true and (B) is false
(A) is false and (B) is true
91394351396,

Question Number : 99 Question Id : 91394313080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
With regard to processing of organic matter by soil dwelling macro- and micro- fauna
consider the following two statements :
(A) Phytophagous organisms consume living plant material.
(B) Sarcophagus organisms consume dead plant material.
Choose the correct answer from the code given below :

Code:
Options :
B
91394351393 Both (A) and (B) are true
Both (A) and (B) are false

91394235139%94.
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A)i B)i
91394351395 (A) is true and (B) is false

e .
91394351305, 18 falss and (B) s true

Question Number : 100 Question Id ;: 91394313081 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
The online monitoring technique for NO_ is based on the Chemiluminiscence of which of the

following molecules in excited state ?

Options :

91394351397, OZOne

Nitrogen dioxide
91394351398,

Dioxygen
913943513989,

91394351400, |Htric oxide

Question Number : 100 Question Id : 91394313081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The online monitoring technique for NO_ is based on the Chemiluminiscence of which of the

following molecules in excited state ?

Options :

91394351397, OZone

Nitrogen dioxide
91394351398,

Dioxygen
913943513989.

91394351400, |Htic oxide

Question Number : 101 Question Id ;: 91394313082 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
The Keeling curve is a plot between
Options :

The concentration of CO, and the year of measurement.
91394351401,
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91394351402 The concentration of ozone and the altitude.

The altitude and the temperature of the day.
91394351403,

The solar intensity and time of the day.
91394351404,

Question Number : 101 Question Id ;: 91394313082 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

The Keeling curve is a plot between

Options :

The concentration of CO,, and the year of measurement.
91394351401,

91394351402 The concentration of ozone and the altitude.

The altitude and the temperature of the day.
91394351403,

The solar intensity and time of the day.
91394351404,

Question Number : 102 Question Id : 91394313083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the two lists given below, List I provides the list of Mass movement types, while List II
indicates Materials. Match the two lists and choose the correct answer from the code given

below :
List 1 List I1
(Mass movement type) (Material)
(a) Fall (i) Block
(b) Flows (i) Rock
(¢) Subsidence (iii) Soil
(d) Lateral movement (iv) Caves
Code:
Options :
S —— (a)-(i), (b)—{(ii), (e)—iii), (d)—(iv)
— (a)-(ii), (b)—(iii), (e)—(iv), (d)—(i)
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91394351408, 2~ (-G, ()i, (d~iv)

Question Numnber : 102 Question Id : 91394313083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the two lists given below, List I provides the list of Mass movement types, while List II
indicates Materials. Match the two lists and choose the correct answer from the code given

below :
List 1 List II
(Mass movement type) (Material)
(2) Fall () Block
(¢) Subsidence (iii) Soil
(d) Lateral movement (iv) Caves
Code :
Options :
= b .a A d .
grsgaseiqos -, (e~ (d)-(v)
11 b 11 3 d .
sisaEsiags WAt e-0v) a0
T— we.
91394351407, U (B)-(v), (-1, (d)—(i)
i), (b)—(iii 0 (-G
01394351405 B (B-GiD, (@)—(), (D)

Question Number : 103 Question Id : 91394313084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Exfoliation is a form of
Options :

Mass Wasting
913943514089,

Physical Weathering
91394351410.

Biochemical Weathering
91394351411.

Chemical Weathering
91394351412,

Question Number : 103 Question Id : 91394313084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Exfoliation is a form of

Options :

Mass Wasting
91394351408,

Physical Weathering
91394351410,

Biochemical Weathering
91394351411,

Chemical Weathering
91394351412,

Question Nuinber : 104 Question Id : 91394313085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Zone of rapid change in density in oceans is known as

Options :

91394351413, Tialocline

Pseudo-congruence
91394351414, =

Pycnocline
91394351415,

91394351416, Sterocline

Question Number : 104 Question Id : 91394313085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Zone of rapid change in density in oceans is known as

Options :

91394351413, Tialocline

Pseudo-congruence
91394351414, B

Pycnocline
91394351415,

91394351416, tenocline

Question Number : 105 Question Id : 91394313086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
According to Darcy’s law, the relationship between flow velocity and hydraulic gradient is

Options :

91394351417.

Logarithmic
91394351418,

Exponential
91394351419.

91394351450, llon-linear

Question Number : 105 Question Id : 91394313086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
According to Darey’s law, the relationship between flow velocity and hydraulic gradient is

Options :

91394351417.

Logarithmic
91394351418,

Exponential
91394351419.

91394351450, llon-linear

Question Number : 106 Question Id : 91394313087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Mid-ocean ridges are formed when

Options :
Two plates move away from one another.
91394351421.
Oceanic plate sinks beneath continental plate.
91394351422,
Older, denser, oceanic plate sinks beneath the younger less dense oceanie plate.
91394351423,

The plates slide past one another.
91394351424.
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Question Nuinber : 106 Question Id : 91394313087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Mid-ocean ridges are formed when

Options :
Two plates move away from one another.
91394351421,
Oceanic plate sinks beneath continental plate.
91394351422,
Older, denser, oceanic plate sinks beneath the younger less dense oceanie plate.
91394351423.
The plates slide past one another.
91394351424,

Question Numnber : 107 Question Id : 91394313088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Reference data or ground truth data is used for the following purposes in remote sensing :
(i) To aid in the analysis and interpretation of remotely sensed data
(ii) To calibrate a sensor
(iii) To verify information extracted from remote sensing data
Choose the correct answer from the code given below :

Code :

Options :

i), (ii) and (iii
91394351425, @, ) e

Only (ii) and (iii)
91394351426,

Only (i) and (iii)
91394351427,

Only (iii)
913943514283,

Question Number : 107 Question Id : 91394313088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Reference data or ground truth data is used for the following purposes in remote sensing :
(i) To aid in the analysis and interpretation of remotely sensed data
(ii) To calibrate a sensor
(iii) To verify information extracted from remote sensing data

Choose the correct answer from the code given below :
Code:

Options :
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(1), (i) and (iii)

91294251425,

Only (ii) and (iii)
913943514z6.

Only (i) and (iii)
91394351427

Only (iii)
91394351428.

Question Number : 108 Question Id : 91394313089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which wavelength is most useful for imaging during cloud-covered conditions ?

Options :

91394351409 O4m

91394351430, U 04w

91394351431, Toom

91394351432, 40D

Question Number : 108 Question Id : 91394313089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which wavelength is most useful for imaging during cloud-covered conditions ?

Options :

91394351429, 4™

91394351430, 004 m

91394351431, Tom
4 nm

91394351432,

Question Nuinber : 109 Question Id : 91394313090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which of the following frequencies is best for height measurement ?

Options :
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91394351433 LwPand

91394351434, CPand

91394351435, L pand

91394351436, T Pand

Question Number : 109 Question Id ;: 91394313090 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
Which of the following frequencies is best for height measurement ?

Options :

91394351433 LwPand

91394351434 CPand

91394351435, L pand

91394351436, T Pand

Question Number : 110 Question Id : 91394313091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Key components of spatial data quality in GIS include
(i) Positional accuracy
(ii) Temporal accuracy
(iii) Logical consistency
(iv) Lineage and Completeness
Choose the correct answer from the code given below :

Code:
Options :
i), (ii), (iii) and (iv
91394351437, (@, (), ) s
Only (i), (ii) and (iii
913943251438, y @, (i) il

Only (i) and (ii
913943514389, A (i
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Only (ii), (iii) and (iv
91294251440, y (1), (i vy

Question Numnber : 110 Question Id : 91394313091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Key components of spatial data quality in GIS include
(i) Positional accuracy
(ii) Temporal accuracy
(iii) Logical consistency
(iv) Lineage and Completeness
Choose the correct answer from the code given below :

Code:
Options :
i), (ii), (iii) and (iv
91394351437. {00, ) i
Only (i), (ii) and (iii
91394351438, s Vil
Only (i) and (ii
913943514389. ¥ @ W
Only (ii), (iii) and (iv
91394351440, R b

Question Number : 111 Question Id : 91394313092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Range resolution in radar remote sensing is a function of
(i) Velocity of light, ¢
(ii) Pulse compression, 1

(iii) Angle of depression, 64

Choose the correct answer from the code given below :

Code:
Options :
Only (i) and (ii
91394351441, y @ o
Only (i) and (iii)
91394351442,
i), (i) and (iii
91394351443, @, i) (i)

Only (ii) and (iii)
91294251444,
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Question Numnber : 111 Question Id : 91394313092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Range resolution in radar remote sensing is a function of
(i) Velocity of light, ¢
(ii) Pulse compression, 1

(ili) Angle of depression, 64

Choose the correct answer from the code given below :

Code:
Options :
Only (i) and (ii
91394351441, yd D
Only (i) and (iii
91394351442, y (i)
i), (ii) and (iii
91394351443, @ @) (i)
Only (ii) and (iii)
91394351444,

Question Number : 112 Question Id : 91394313093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer from the code given below.

Assertion (A) : Carbon dioxide at higher altitudes has a globally constant value despite its

localized source of production.
Reason (R): Carbon dioxide has long residence time in atmosphere.
Code:
Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351445,
Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351446,
(A) is true, but (R) is false.
91394351447,
(A) is false, but (R) is true.
91394351448,

Question Number : 112 Question Id : 91394313093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer from the code given below.

Assertion (A) : Carbon dioxide at higher altitudes has a globally constant value despite its
localized source of production.

Reason (R): Carbon dioxide has long residence time in atmosphere.
Code:

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394351445,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394351446,

(A) is true, but (R) is false.
91394351447,

(A) is false, but (R) is true.
91394351448,

Question Number : 113 Question Id ; 91394313094 (Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

If the fractional wind velocity drop at the rotor of a windmill is 0-1, the coefficient of
performance of the windmill is

Options :

91394351449, U524

91394351450, 09

91394351451, UL

91394351452 036

Question Number : 113 Question Id : 91394313094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If the fractional wind velocity drop at the rotor of a windmill is 0-1, the coefficient of
performance of the windmill is
Options :

91394351449, U524

91394351450, Y
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91394351451, UL

91394351452 036

Question Number : 114 Question Id : 91394313095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A photon in the visible blue region irradiates a silicon solar cell. How
much energy of photon will be wasted ? (h = 6:6 x 10734 Js)

Options :

o 5
91394351453~ 20€V

91394351454 — 10V

91394351455, ~ 072 eV

91394351456, ~ 19 €V

Question Number : 114 Question Id : 91394313095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A photon in the visible blue region irradiates a silicon solar cell. How
much energy of photon will be wasted ? (h = 6:6 x 10734 Js)

Options :

—_ .
91394351453 — 20 €V

91394351454, ~ 10 eV

—_ 07O
91394351455, ~ 072 eV

91394351456, ~ 19 €V

Question Number : 115 Question Id ;: 91394313096 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
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In a flat-plate solar collector, the energy losses are due to

(i) Conduction
(ii) Convection
(iii) Radiation
Choose the correct answer from the code given below :
Code:
Options :
Only (i) and (iii)
91394351457,
Only (i) and (ii
91394351458, y )
Only (ii) and (iii)
91394351459,
i), (ii) and (iii
91384351460. @, (i)

Question Number : 115 Question Id : 91394313096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a flat-plate solar collector, the energy losses are due to

(1) Conduction
(ii) Convection
(iii) Radiation
Choose the correct answer from the code given below :
Code:
Options :
Only (i) and (iii
91394351457. y (i)
Only (i) and (ii
9135943514585. y @ @
Only (ii) and (iii)
913594351458%.
i), (ii) and (iii
91394351460. @, () i

Question Number : 116 Question Id : 91394313097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following biomass fuels has the highest energy content (MJ/kg) ?

Options :
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Wood (air dry)
91294251461, iy

91394351462 Unsorted domestie refuse

Paper and cards
91394351463,

Coconut and groundnut shells
91394351464,

Question Number : 116 Question Id : 91394313097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following biomass fuels has the highest energy content (MdJ/kg) ?

Options :

Wood (air dry)
91=294=2514¢1. {air dry.

91394351465 Unsorted domestic refuse

Paper and cards
91394351463,

Coconut and groundnut shells
91394351464.

Question Number : 117 Question Id ; 91394313098 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (
The number of sites suitable for harnessing tidal power in the world is limited to about

Options :

91394351465. A
91394351466. 2
913943514867, L
91394351468. &

Question Number : 117 Question Id : 91394313098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The number of sites suitable for harnessing tidal power in the world is limited to about
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Options :

91394351465. Al
91394351466, A
91394351467, "
91394351468. 8{}

Question Number : 118 Question Id ;: 91394313099 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which of the following materials is used as a moderator in nuclear power reactors ?

Options :

Graphite
91394351469,

91394351470, Coron

91394351471, Cadmium

9139435147 Hthium

Question Number : 118 Question Id : 91394313099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which of the following materials is used as a moderator in nuclear power reactors ?

Options :

Graphite
91394351469,
91394351470, Coron
91394351471, Cadmium
91394351472, rithium

Question Number : 119 Question Id : 91394313100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A 500 MW coal based power station is operating at an efficiency of 30%. If the coal has 1%
of sulphur content and 1 tonne of coal produces 8000 kWh energy, how much SO, will be

emitted daily by the plant ?

Options :

91394351473, °U tonne

91394351474 100 tenne
200 to

91394351475, none
~21+to

91394351476, =

Question Number : 119 Question Id : 91394313100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A 500 MW coal based power station is operating at an efficiency of 30%. If the coal has 1%
of sulphur content and 1 tonne of coal produces 8000 kWh energy, how much SO, will be

emitted daily by the plant ?
Options :
91394351473, °U tonne
91394351474 100 tonne
91394351475, 200 tonne
~2.1to
91394351476, e

Question Number : 120 Question Id : 91394313101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a nuclear fusion reactor based on deuterium + tritium fuel, the proportion of these
isotopes of hydrogen in the fuel is as

Options :

91394351477, 00 40

91394351478, 020
50 : 50

91394351479.
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91394351480, 020

Question Number : 120 Question Id : 91394313101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a nuclear fusion reactor based on deuterium + tritium fuel, the proportion of these
isotopes of hydrogen in the fuel is as

Options :

91394351477, o0 ° 40
91394351478, °° 20
91394351479, 0 -0
91394351480, o0 ¢ 20

Question Number : 121 Question Id : 91394313102 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
The power output (P) from an ideal magnetohydrodynamic power generating plant varies
with the strength of magnetic field (B) as.

Options :

2
913943514831. P«<B

91394351482 L = B

1/2
91394351483 L =B

3
91394351434, L =B

Question Number : 121 Question Id ; 91394313102 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

The power output (P) from an ideal magnetohydrodynamic power generating plant varies
with the strength of magnetic field (B) as.

Options :

2
91394351431. P«<B

91394351482 L =B
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1/2
91394351453 =B

3
91394351434, L =B

Question Number : 122 Question Id : 91394313103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The radiative forcing is negative in case of

Options :

CH,
91394351485,

91394351486, DLackcarbon aerosols

Tro heric ozone
91394351487. Fo

Stratospheric ozone
91394351488,

Question Number : 122 Question Id ;: 91394313103 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

The radiative forcing is negative in case of

Options :

CH

91394351485. $

91394351486, Black carbon aerosols

Tro heric ozone
91394351487. =

Stratospheric ozone
91394351488,

Question Number : 123 Question Id : 91394313104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Scoping step of EIA
(i) Is a systematic exercise that establishes the boundaries of EIA
(ii) Clearly indicates what is relevant and what is not relevant within EIA

(iii) Serves as a work plan for entire EIA process.

Choose the correct answer from the code given below :

Code:
Options :
Only (ii) and (iii)
91394251489,
i), (ii) and (iii
91394351490, @, ) i
Only (i) and (ii
91394351491, ya )
Only (iii)
91394351492,

Question Number : 123 Question Id : 91394313104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Scoping step of EIA
(i) Isa systematic exercise that establishes the boundaries of EIA
(i) Clearly indicates what is relevant and what is not relevant within EIA

(ili) Serves as a work plan for entire EIA process.

Choose the correct answer from the code given below :

Code:
Options :
Only (ii) and (iii)
91394351489,
i), (i) and (iii
91394351490, @, i) (i)
Only (i) and (ii
91394351491, yd G
Only (iii)
91394351492,

Question Number : 124 Question Id : 91394313105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is a contingency plan in EIA ? Select the best answer.

Options :
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A plan of actions to prevent an emergency and steps to be taken when emergencies occur.
91294=51493. = e el £ =

A set of guidelines ensuring that the development project will remain within its boundaries.
91394351494,

A plan describing the measures that will be taken to contain or treat any waste produced by

the development project.
91394351495,

A set of guidelines for carrving out EIA.
91394351496, B Sl

Question Number : 124 Question Id : 91394313105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is a contingency plan in EIA ? Select the best answer.

Options :

A plan of actions to prevent an emergency and steps to be taken when emergencies occur.
91394351493, B E Ly = o

A set of guidelines ensuring that the development project will remain within its boundaries.
91394351494,

A plan describing the measures that will be taken to contain or treat any waste produced by

the development project.
91394351495,

A set of guidelines for carrving out EIA.
91394351496, B Sl

Question Number : 125 Question Id : 91394313106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which EIA tool best identifies action-effect-impact relations ?

Options :

91394351497. Ga

91394351493, ietworks

91394351499, Interaction matrices

91394351500. et

Question Number : 125 Question Id ; 91394313106 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Which EIA tool best identifies action-effect-impact relations ?

Options :

91394351497. G

91394351493, ietworks

91394351499, Interaction matrices

91394351500. et

Question Number : 126 Question Id : 91394313107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ecologically sustainable mine closure plan should be
(1) Site specific

(ii) Risk based

(iii) Consider post-mining land uses

(iv) Based on adaptive management

Choose the correct answer from the code given below :

Code:
Options :
Only (ii), (iii) and (iv
91394351501, y (i), (i) )
Only (i) and (ii)
91294251502, y (
i), (ii), (iii) and (iv
91394351503, @, (), (@ s
Only (i), (ii) and (iv
91394351504, y @, 4 o

Question Number : 126 Question Id ;: 91394313107 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Ecologically sustainable mine closure plan should be
(1) Site specific

(ii) Risk based

(iii) Consider post-mining land uses

(iv) Based on adaptive management

Choose the correct answer from the code given below :
Code:

Options :



WwWw.prepp.in .repp

Your Personal Exams Guide

Only (i), (iii) and (iv)

91394351501,
91394351502, 0y @ and
91394351503, O (W (i) and (V)
91394351504 Omy O, (i) and (iv)

Question Number : 127 Question Id : 91394313108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to Wildlife Protection Act, the ‘Closed area’ refers to

Options :

Area with geographical barriers
91394351505,

Once part of Wildlife reserve, but now abandoned
91394351506,

Area closed to hunting for a specified period
913894351507. o kS

Area surrounding the bioreserve
91394351508,

Question Number : 127 Question Id : 91394313108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to Wildlife Protection Act, the ‘Closed area’ refers to

Options :

Area with geographical barriers
91294=51505,. - E

Once part of Wildlife reserve, but now abandoned
91394351506,

Area closed to hunting for a specified period
91394351507. 5 o

Area surrounding the bioreserve
91394351508,

Question Number : 128 Question Id : 91394313109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In India, the burning of used syringes in the hospital is banned, because

(i) The Bio-Medical Waste (Management and Handling) Rules, 1998
do not permit

(i) It releases dioxins and furans

(ili) Syringes are encapsulated after use
Choose the correct answer from the code given below :

Code:
Options :
91394351509, O and () are correct
(i) and (iii) are correct
91394351510,
91394351511, O and (i are correct
(1), (ii) and (iii) are correct
91394351512,

Question Number : 128 Question Id ;: 91394313109 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
In India, the burning of used syringes in the hospital is banned, because

(i) The Bio-Medical Waste (Management and Handling) Rules, 1998
do not permit

(ii) It releases dioxins and furans

(ili) Syringes are encapsulated after use
Choose the correct answer from the code given below :

Code:
Options :
o) and Gi ok

91394351509, O and (i) are corr

(i) and (iii) are correct
91394=51510.
91394351511, O and (i are correct

(1), (ii) and (iii) are correct
91394351512,

Question Number : 129 Question Id : 91394313110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Name the low heat thermal process that destroys the pathogen in biomedical waste by
heating that occurs inside the waste material.
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Options :

Hydroclave
91394351513,

91394351514 Autoclave

91394351515, Yherowave

olysis
91394351516, Fyriy

Question Number : 129 Question Id ;: 91394313110 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Name the low heat thermal process that destroys the pathogen in biomedical waste by
heating that occurs inside the waste material.

Options :

Hydroclave
91394351513,

91394351514 Autoclave

91394351515, Yherowave

olysis
91394351516, Fyroly

Question Number : 130 Question Id : 91394313111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Under which Article of the Constitution of India, was The Environment (Protection) Act,
1986, enacted ?

Options :

91394351517. 249

91394351518. 254

913943515189. —

91394351520. 458

Question Number : 130 Question Id : 91394313111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Under which Article of the Constitution of India, was The Environment (Protection) Act,
1986, enacted ?

Options :

913894351517.

91394351518.

913943515189.

91394351520.

249

254

248

253

prepp
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Question Number : 131 Question Id ;: 91394313112 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes

Single Line Question Option : Ne Option Orientation : Vertical
Correct Marks : 2 Wrong Marks :

According to IS 10500 : 1991, the desirable limit of sulphates (as SOf) in

ground water around the landfill site for wastes is

Options :

91294251521,

91384351522.

91394351523.

913394351524.

500 mg/L

300 mg/L

250 mg/L

200 mg/L

Question Number : 131 Question Id : 91394313112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

According to IS 10500 : 1991, the desirable limit of sulphates (as SO;2 ) in

ground water around the landfill site for wastes is

Options :

91384351521.

91384351522.

91394351523.

500 mg/L

300 mg/L

250 mg/L
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200 mg/L
91294251524, e

Question Number : 132 Question Id : 91394313113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the Water (Prevention and Control of Pollution) Act, 1974, any liquid, gas or
solid discharged from any premises used for carrying industrial operation or process or
treatment is called

Options :

91394351595, Hazardous effluent

Sewage
91394351526.

91394351507, Contaminants

9139435150, 1rade effluent

Question Number : 132 Question Id : 91394313113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the Water (Prevention and Control of Pollution) Act, 1974, any liquid, gas or
solid discharged from any premises used for carrying industrial operation or process or
treatment is called

Options :

91394351595, Hazardous effluent

Sewage
91394351526.

91394351507, Contaminants

9139435150, 1rade effluent

Question Number : 133 Question Id : 91394313114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In the two lists given below, List I provides the list of Treatment Processes, while List 11
indicates Hazardous Wastes. Match the two lists and choose the correct answer from the

code given below :
List I List II
(Treatment Process) (Hazardous Wastes)
(a) Ozonization (i) Aqueous with metals
(b) Evaporation (ii) PCBs
(¢) Fluidized bed incineration (iii) Cyanides
(d) Carbon adsorption (iv) Chlorinated organics
Code:
Options :
a)-(i), (b)—(iv), (e)—(ii), (d)—(iii)
o (a)-(i), (b)—(iv), (e)—(ii), (d)—
a)—(iv), (b)—(ii), (c)—(iii), (d)—(i)
5 SR AEETESR, (a)—(iv), (b)—ii), (e)—(iii), (d)~(
a)—(1), (b)—(iii), (e)—(iv), (d)—(ii)
—— (a)—(i), (b)—(iid), (e)—(iv), (d)—
a)—(iii), (b)—(iv), (e)—(ii), (d)—(i)
91394351532 (a)—(iii), (b)—(iv), (e)—(ii), (d)—(

Question Number : 133 Question Id : 91394313114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the two lists given below, List I provides the list of Treatment Processes, while List I1
indicates Hazardous Wastes. Match the two lists and choose the correct answer from the

code given below :
List I List IT
(Treatment Process) (Hazardous Wastes)
(a) Ozonization (i) Aqueous with metals
(b) Evaporation (ii) PCBs
(¢) Fluidized bed incineration (iii) Cyanides
(d) Carbon adsorption (iv) Chlorinated organics
Code:
Options :
a)—(i), (b)—(iv), (e)—(ii), (d)—(iii)
T — (a)—(1), (b)—(iv), (e)—(ii), (d)~(
a)—(iv), (b)—(ii), (c)—(iii), (d)—(i)
., (a)(iv), (b)—(iD), (c)-(iii), (d)—
a)—(1), (b)—(iii), (c)—(iv), (d)—(ii)
SS9 AEEEST (a)(1), (b)—(iii), (e)—(iv), (d)

91294z515ay Uiy (B, (o), (=D
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Question Nuinber : 134 Question Id : 91394313115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following plants is listed under Schedule VI of Wildlife (Protection) Act,
1972 and prohibited from cultivation and planting ?

Options :

91394351533, Sandalwood

91394351534, Dluevanda

91394351535, Dabul

91394351536, ravieafacacia

Question Number : 134 Question Id ;: 91394313115 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

Which one of the following plants is listed under Schedule VI of Wildlife (Protection) Act,
1972 and prohibited from cultivation and planting ?

Options :

91394351533, Sandalwood

91394351534, Lluevanda

91394351535, bapul

91394351536, ravieafacacia

Question Number : 135 Question Id : 91394313116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Label on paper products with the Mébius arrows contained within a circle indicates that the
product is

Options :

recyclable after use
91394351537,

made up of recycled material
91394351538, g

made by a tribal community
913943515389.
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re-usable again
91394351540,

Question Numnber : 135 Question Id : 91394313116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Label on paper products with the Mébius arrows contained within a circle indicates that the
product is

Options :

recyclable after use
91394351537,

made up of recycled material
91394351538, b

made by a tribal community
91394351539,

re-usable again
91394351540,

Question Number : 136 Question Id : 91394313117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to Rules 6(1), 6(3) and 7(2) of Municipal Solid Waste (Management and
Handling) Rules, the maximum permissible standard for suspended solids for land disposal is

Options :
1200 mg/L
913594351541. e
600 mg/L
91394351542,
200 mg/L
91394351545, o
350 mg/L
91394351544, e

Question Number : 136 Question Id : 91394313117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to Rules 6(1), 6(3) and 7(2) of Municipal Solid Waste (Management and
Handling) Rules, the maximum permissible standard for suspended solids for land disposal is

Options :

1200 mg/L
91394351541. =k
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600 mg/L
91294251542, e

200 mg/L
91394351543. e

350 mg/L
91394351544. o

Question Number : 137 Question Id ;: 91394313118 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Arrange the following functional elements of solid waste management in the order in which
they appear:
(i) On-site handling, storage and processing
(ii) Collection
(iii) Process recovery
(iv) Transfer and transport
Choose the correct answer from the code given below :
Code:

Options :

91394351545, 0 @ W) @)

ii), (iii), (i), (iv)
91394351547. (i), (i, @, {

91394351548, {]1_}: (“ﬂ, 'I:l), (]11)

Question Number : 137 Question Id ;: 91394313118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Arrange the following functional elements of solid waste management in the order in which
they appear:

(i) On-site handling, storage and processing

(ii) Collection

(iii) Process recovery

(iv) Transfer and transport

Choose the correct answer from the code given below :

Code:

Options :
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(1), (id), (iv), (iii)

91394351546,
ii), (iii), (i), (iv

91394351547. (i), (i), @), i)
ii), (iv), (i), (iii)

91394351543. (i), (v, @), ¢

Question Number : 138 Question Id ;: 91394313119 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Which one of the following threatened plant species of Kerala is endangered ?

Options :

Nymphaea tefragona
913943515489, ymp &
91394351550, Abutilon indicum

Acacia planifrons
91394351551,

Actinodaphne lawsonii
91394351552,

Question Number : 138 Question Id ;: 91394313119 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Which one of the following threatened plant species of Kerala is endangered ?

Options :

Nymphaea tetragona
913943515489, o &
91394351550, Abutilon indicum

Acacia planifrons
91294251551,

Actinodaphne lawsonii
91394351552,

Question Number : 139 Question Id ;: 91394313120 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Formulation of Reference Ecosystem in restoration involves

(i) Species composition

(il) Structure

(iii) Functionality
(iv) Description of successional stage
Choose the correct answer from the code given below :

Code:

Options :

91394351553.

91394351554.

91394351555.

91394351556.

Only (i), (ii) and (iii)

Only (i), (iii) and (iv)

(i), (i), (iii) and (iv)

Only (1), (ii) and (iv)

prepp
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Question Number : 139 Question Id : 91394313120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Formulation of Reference Ecosystem in restoration involves

(i) Species composition

(ii) Structure

(iii) Functionality
(iv) Description of successional stage
Choose the correct answer from the code given below :

Code:

Options :

91384351553.

91394351554.

91394351555.

91294=5155E.

Only (i), (ii) and (iii)

Only (i), (iii) and (iv)

(1), (ii), (iii) and (iv)

Only (i), (ii) and (iv)

Question Number : 140 Question Id : 91394313121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Key attributes of a restored ecosystem are
(1) Species composition

(ii) Structural diversity

(iii) Ecosystem functionality

(iv) Absence of threats

Choose the correct answer from the code given below :
Code :

Options :

Only (i) and (ii
91394351557, A G

(1), (ii), (iii) and (iv)

91394351558,
Only (ii), (iii) and (iv
91394351559, i, )
Only (i), (ii) and (iii
91394351560. y @), () (i)

Question Number : 140 Question Id : 91394313121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Key attributes of a restored ecosystem are
(i) Species composition
(ii) Structural diversity
(iii) Ecosystem functionality
(iv) Absence of threats

Choose the correct answer from the code given below :
Code:

Options :

Only (i) and (ii
91394351557, A G

(i), (i), (iii) and (iv)

91394351553.
Only (ii), (iii) and (iv
91394351559. (i) ) )
Only (i), (ii) and (iii
91394351580, y ), (i)

Question Number : 141 Question Id : 91394313122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Hedgegroves in an agricultural landscape typify

Options :
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91394351561, TAX

91394351562, Cormidor

91394351563, T Ath

Metapopulation
91394351564, e

Question Number : 141 Question Id ; 91394313122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Hedgegroves in an agricultural landscape typify

Options :

91394351561, TAtX

91394351562, Cormidor

91394351563, " Ateh

Metapopulation
91294=51564. e

Question Numnber : 142 Question Id : 91394313123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Metapopulations, a series of separated subpopulations,

Options :

have limited genetic exchange
91394351565,

have no genetic exchange
91394351566.

maximize genetic exchange
91394351567.

optimize genetic exchange
91394351568,

Question Number : 142 Question Id : 91394313123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Metapopulations, a series of separated subpopulations,
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Options :

have limited genetic exchange
913943251565,

have no genetic exchange
91394351566.

maximize genetic exchange
91394351567,

optimize genetic exchange
913943515685.

Question Number : 143 Question Id : 91394313124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Biodiversity in a riverine ecosystem increases
(i) in presence of diverse habitats with many potential niches.
(ii) with moderate amount of disturbance.
(iii) in the river having large woody debris.
(iv) in the presence of harsh environment.
Choose the correct answer from the code given below :

Code:
Options :
Only (i), (ii) and (iii
91394351569, y @, () (i)
Only (ii), (iii) and (iv
91394351570, y (), Gl G
i), (ii), (iii) and (iv
91394351571, @ (), (i) Ll
Only (i) and (ii
91394351572, ya )

Question Number : 143 Question Id : 91394313124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Biodiversity in a riverine ecosystem increases
(i) in presence of diverse habitats with many potential niches.
(ii) with moderate amount of disturbance.
(iii) in the river having large woody debris.
(iv) in the presence of harsh environment.
Choose the correct answer from the code given below :
Code:

Options :

Only (i), (ii) and (iii
91394351569, ¥ @b )



WwWw.prepp.in .repp

Your Personal Exams Guide

Only (i), (iii) and (iv)

91394351570,
i), (ii), (iii) and (iv
913894351571, (0, 18, D )
Only (i) and (ii
91394351572, yd ()

Question Number : 144 Question Id ;: 91394313125 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Ozone in the stratosphere is not removed by catalytic cycles involving homogeneous gas
phase reactions of

Options :

HO}I families
91394351573,

NOx families
91394351574,

SO families
91394351575.

BrOx families
91394351576,

Question Nuinber : 144 Question Id : 91394313125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ozone in the stratosphere is not removed by catalytic cycles involving homogeneous gas
phase reactions of

Options :

HO}I families
91394351573,

NOX families
91394351574,

SO families
91394351575.

Brt}:K families
91394351576,

Question Numnber : 145 Question Id : 91394313126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In each experiment 5 measurements were made of an observable. The first experiment
yielded mean and standard deviation 80 and 4 respectively, whereas the second experiment
gave mean and standard deviation 100 and 5 respectively. What is the combined standard
deviation of the data ?

Options :

91294251577,

913943515783.

91394351579.

91394351580.

6-52

4-83

4-53
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Question Number : 145 Question Id ;: 91394313126 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : (0

In each experiment 5 measurements were made of an observable. The first experiment
yielded mean and standard deviation 80 and 4 respectively, whereas the second experiment
gave mean and standard deviation 100 and 5 respectively. What is the combined standard
deviation of the data ?

Options :

91394351577.

913943515783.

913343515789.

91394351580.

6-52

4-83

4-53

Question Number : 146 Question Id ;: 91394313127 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes

Single Line Question Option : Ne Option Orientation : Vertical
Correct Marks : 2 Wrong Marks :

The leading state in India in the field of organic farming is

Options :

91294251581,

91394351582.

91394351583.

Tripura

Nagaland

Sikkim
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91394351584, hzoram

Question Number : 146 Question Id : 91394313127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The leading state in India in the field of organic farming is

Options :

Tripura
913943515831.

Nagaland
91394351582,

91394351583. &

91394351584, hzoram

Question Nuinber : 147 Question Id : 91394313128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
What is the CFC number for the halocarbon (3(}121?‘2011’3 ?

Options :

91394351585. =

91394351536. 132

91394351587. Lol

91394351588. 14e

Question Number : 147 Question Id : 91394313128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the CFC number for the halocarbon (3(}121"‘2{311’3 ?

Options :

91394351585. e

91394351586. 1oz
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91394351587. 1ag

91394351583. .

Question Number : 148 Question Id : 91394313129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The dominant mechanism(s) of deposition of aerosol particles in the size range 5 — 10 pum in

the respiratory tract are
(i) Sedimentation
(ii) Impaction
(iii) Diffusion
Choose the correct answer from the code given below :
Code:
Options :
Only (i) and (iii)
913943515889.
Only (ii) and (iii)
91394351590.
Only (i) and (ii
91394351591. 4 !

i), (ii) and (iii
91394351592, @, @ ()

Question Numnber : 148 Question Id : 91394313129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

The dominant mechanism(s) of deposition of aerosol particles in the size range 5 — 10 pum in

the respiratory tract are
(1) Sedimentation
(ii) Impaction
(iii) Diffusion
Choose the correct answer from the code given below :
Code:
Options :
Only (i) and (iii
913943515889. ¥ @ )
Only (ii) and (iii)
91394351590.
Only (i) and (ii)

91384351591.
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i), (ii) and (iii
91394351592, ), (@) iy

Question Numnber : 149 Question Id : 91394313130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to IS 3307 — 1965, the maximum limit for chloride (expressed as Cl) in waste
water effluent to be discharged on land for irrigation purpose is

Options :

2100 mg/L
91394351583.

600 mg/L
91394351594. e

1000 mg/L
91384351595. e

200 mg/L
91394351596. e

Question Number : 149 Question Id : 91394313130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to IS 3307 — 1965, the maximum limit for chloride (expressed as Cl) in waste
water effluent to be discharged on land for irrigation purpose is

Options :

2100 mg/L
91384351593.

600 mg/L
91394351594,

1000 mg/L
91394351595. o

200 mg/L
91294251526, e

Question Number : 150 Question Id : 91394313131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the following mangrove species from sea shore towards
land :

Options :

Black mangrove — White mangrove — Red mangrove
91394351597, 3 & 5
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91294251598,

913943515989.

91394351600.

Red mangrove — White mangrove — Black mangrove

Red mangrove — Black mangrove — White mangrove

White mangrove — Red mangrove — Black mangrove
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Question Number : 150 Question Id ; 91394313131 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Identify the correct sequence of the following mangrove species from sea shore towards

land :

Options :

91394351597.

91394351598.

913943515989.

91394351600,

Black mangrove — White mangrove — Red mangrove

Red mangrove — White mangrove — Black mangrove

Red mangrove — Black mangrove — White mangrove

White mangrove — Red mangrove — Black mangrove



